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78 ' I AR aEuEE AT Yyt ek u Sttt date A SuiH Sadd i
T HAEE. FAAT T IR WrSfIdear yle 41 JE = ITUdret Wl Wo=rs o7 aim

» Wi mli
T yraiREa svEena faRe Foeh A Wivda & weTgitaenT smeRTe oA S
TR Y garen IHHAd aaR AT 99 e @ 9@ diudd d=Y yegfeadt
g7/ udt, f&Har U yrIqRad dle S8 AT AR WETE YA AT AUt
FIUTAE TR TR, T wfirg H0T 8 TRt S SRt et FHOT saRitat YT
IR FIE U rhanwd for=n fyswr yfrey srvararaden sfufrag-s2 ' o
ACAETAR T Wl T WIETHR R AT 4o o Sl et e UF
TuTe HETHTET T/ e U U TR TR e fge uy i

a0 T yeRaist fafea woek 9@ wavaremdt & yeafae sHiirpauu STl @
T A TR IO Sat ST wiRrigaiie), U WS gdagdageniat swet
hﬂﬁmmma&mmmmﬁwwmmﬁﬁJ |

YWETA TEAT a9Taidash=ar 31fanw gy qar




LO6

2

Fo=HT HIATEIST AT /SPACE FOR ROUGH WORK




A 3 : LO6
1. wowi W Eea e e Fow T o2

(a) T s anfor e TRaw

(b) T

() ¥ug

@ foa= e

vt 34y | |

M FH () @  (a) 3 ()

@) (@), (0 *nf () _ @) (@) () (9 ()

Which of the following are the devices of control over the public expenditure ?

(a) The CAG of India

(b} Planning Comnission

{c¢) Parliament

(d) The Finance Ministry

Answet options :

(1} Only (a) - (@) (@and(b)

(3} (@) (c)and (d) 4) (@, ®)(c)and @ -

2. VUEE Eed FE O e T FE sl o, W w6

(a) M Y= (b) YEER @A
() T TuEE | (@ T wR
(1) B (a), (), () (2) ¥H @), O). (4
@) T (), () (D (9 FH (), (), (D)
Panchayat Courts are functioning in some states under various names, like :
(a) Nyaya Panchayat (b) Panchayat Adalat
(c) Sthal Panchayat (d) Gram Kacheri
Answer options :
(1) Only (a), (b), () (2} Only (a), (b). (d)

(3) Only (a), (c). (d) {4} Only (b), (c), (d)
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3. o S faumE e wR)
(a) TN SUUUG SHGAAE T T,
(o) TEEM TS A9 ey Fasvara JUsR THRe Tel 7,
1) *AZ (a) @) FI3 (b) @) <= (4) wHETE
Which of the following statements is incorrect ?
(@) Inreality Vice-President is elected by the Lok Sabha alone,

{b) In that-way Council of States has been denied the right to elect its leader.
(1) Only (@) (2) Only (b) (3) Both {4) Neither

4. 2000 WA IRET HEOIR SES, FAIWTE F FRES A G TA1T ToAIHl TSI TEHTEa
fafifedt enefl. W a1 19 T Fafifdt srfufam Sieg areaeama a1res At Siw FOTTHA F74 B 2
(1) IS, TAWE, FES
(2) TES, IWEE, TUATE
(3) TS, IWES, FWS
(@) TGS, INES, TUHTE
In the year 2000 the three states of Uttarakhand, Chhattisgarh and Jharkhand were
established almost at the same time. However what is the order in which the Acts creating
these states came into effect ? :

(1) Uttarakhand, Chhattisgarh, Jharkhand
(2) Jharkhand, Uttarakhand, Chhattisgarh
(3) Chhattisgarh, Uttarakhand, Jharkhand
(4) Uttarakhand, Jharkhand, Chhaitisgarh

5. WO YAEl (9”64
(a) Eiawr 9= GEH 26 AR 1950 et wlaamHEt @i Sel.
(b) VB A HfaEET 395 Hew anfur 12 Tfferee T,

ﬂ'ﬂfﬁ?ﬂ’!‘:
(1) () 3fr (b) TR ARA (2) (a) T 2
(3) (b) T AR (4)  (a) SO (b) T T A

Consider the following statements :

{a) The Constitution was signed by the members of the Constituent Assembly on 261
January 1950.

(b) There were 395 articles and 12 schedules in the original Indian Constitution.
Answer options : :

(1) {a) and (b) are correct (2) (a) is correct

(3) (b)is correct (4) (a) and (b) both are wrong
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6. WS Ay faemmE =
(a) AR DIfr® TAGA FE, 1984 It BIGRE ARG TR FOAR HS e,
(b) WERTENE e FZfaE e 1988 WO T A9 T 7,
(c) WaTeudE g 32 i A FEE 8.
TSt BIR/F fau[/T StET ang/a?
(1) HH (a) (2 (a) T (b) (3) W (b) (4) (b) 30 (<)
Consider the following statements :
(a} InIndia, the Family Courts are established under the Family Courts Act 1984.
(b) In 1988, the First Family Court was established in Maharashtra at Pune.
(c) At present 32 Family Courts are functioning in Maharashtra.

Which of the statements given above is/are correct ?

(1)  Only (a) (2) (a)and (b) (3) Only (b) 4) (b)and (9)

7.  WRAR G AR FATE T A
Foguy 0
(a) TS TN SR FRTH Fiownad 7.
(b) USI@ ARSI A1 A A K TS T H& IHd &L
T T faumiet e W R ?
(1) ¥ () (2 ¥ () @ T 4 T
In India Govt, orders are not issued under the signatures of the Minister.
In England :
(a) Every Govt. order is countersigned by the Minister.
(b) The king cannot be taken to the Court of Law as “The king can do no wrong”.

Which one of the above two statements is correct ?

(1) Only (a) (2) Only (b) (3) Both 4) Neither
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8. Halew AEeAE F1E aftresrn wiaurrt g dfred wvm e o R (Eietet
HITe AT W FEEY S A W2

(a) TEId TA (b) RN (IS
(c) HuIwH | (d) wrdsimE
Tt I
1) @ ®), . (@ @  ®) () (d)
3 @ 0 @) (© (D @

Supreme Court has recognised certain features as the basic features of the Indian
Constitution. Which of the following features are so recognised ?

(a} Principle of equality (b} Judicial Review
(c) Federalism (d) Sovereignty
Answer options :

(1) (@) ®) ) @ 2 @«

@) @ 0 @ € @ e

9. MIRAN FEUSArRigAid Eete faum faerm =0
mmﬁw@ﬂ%mmwm@#mﬁﬁwwmﬂﬁmmw
ek Tt 11 sig@varT AifwR . _
(b) Toaerel TEEI= WiRda T wEUwT A1 e
Flele! HIvd,/dt fasm/3 aET omy/a?
W @) @ wWE) o
(3) (a) AW (b) | (@) T = T
Consider the following statements regarding Indian Federation :

(a) Article 3 of the Indian Constitution empowers the Parliament to create new states,
alter their boundries, even their names.

(b) The state does not participate in the amendment process.
Which of the statements given above is/are correct ?

(1) Only @ (2 Only()

(3) {(a) and (b) (4) None of the above
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A= HErageie Hewld wreie faur fa=mm = :

(a) ST ULYGihST HEaEaR ol i Sl 9.

(b) aﬁﬁwwﬁﬂwﬁgﬁwﬁmﬁmﬂmm = I i
AEEF IR.

() 1 HEe WfHRy ger STEa.

(d) YRATEN W& AT IUfE IRUATET ST ST TR
Fheld® Fod/d fRUF/~ a0eT aTe/q 7
1) () = (b) ) (@) (b) 3 (c)

& b aﬁ() - 4 (@), (b) 3 (d)

Consider the following statements regarding the Attorney General of India :

(2) The Attorney-General is appointed by the President of India.

(b) He has to have the qualifications as are required for a judge of the Supreme Court.
(¢} He is the ex-officio member of Parliament.

(d) He has the right of audience in all the Courts of India.

Which of the statements given above is/are correct ?

- (1) . (a) and (b) (2)  (a) (b) and (o)

() (b, (¢} and (d) (4) (a), (b} and (d)

11.

e e forrr =

(@) mmzszmmwmwmaﬁmnms
SO AT,

(b) marﬁxﬁmmzommﬁgwﬁmm

(¢) TIRET, A, FOT ALY A TR A T N7 & 3N T 9d LN
Firets wom/d faur/T ater o/

(1) % (a) (2)  (a) 0 (b) (3) ®H (o) @) (@) ()

Consider the following statements :

- (a) The Interstate Water Disputes Act 1956-is an act of the Parliament of India enacted

under Article 262 of the Constitution of India.
(b) This act has been amended in 2014.

(c) The Godavari, Narmada, Krishna orders were made before the amendment and
now cannot be altered.

Which of the statements given above is/are correct ?
(1) Only (a) (2)  (a) and (b) (3)  Only (9) (4} (a) and (c)
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Qoo faum fa=mg =i -

(a) meﬁmﬂm@wnwmwﬁwﬁmﬁw
[T TAIR &t T,

(b) 2006 86 AT HAGERIFN Tl 3 Hray TS q@i O T aifrard wafies frgpo 2
IETE SYTFRE $0 T,

FetRr woR/q faam/ siET /a2 o
(1) % (a) (2) ¥ (b) 3 @afrp) (@) FelR T
Consider the following statements :

(a) On the recommendations of Sardar Swarn Singh Comrmttee, the Fundamental Duties
were included in the Indian Constitution by the 42" amendment.

(b) In 2006, through the 86 amendment providing for free and compulsory primary
education to the children between the ages of six and fourteen years has been made
mandatory on the Govt.

Which of the statement/s given above is/are correct 7
(1} Only (a) (2) Only (b) 3 @ and (b) _' “4) _N’one of above

13,

(ay I 9 W wEE

(b) SRR TE

() wifclys § REfFEaTase @

(d) w9 faweA

it I
M @00 (2) FH (a), (), @)
(3) HH (a), {9), (d) @) R (), (), (@)

Which fundamental elements of the basic structure of the Constitution are given by
the Indira Gandhi Vs Raj Narain Case ? _

(a) Equality of status and opportunity

(b) Rule of law | :
(¢) ~Secularism and freedom of conscience
(d) Separation of Powers

Answer options ! _
(1) Only (@), (b), {9) . (2 Only (a), (b), (d)
(3) Only (a), (c) (d) (4} Only (b), (c), (d)
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wote faun faamg =i

(a) TieT HFEAG (1951) I, AT 72 9 3, FHIANST 26 UM TGS B

(b}~ 1631 DHTAA (2014) 7, AT 79 T 3, TURAGET 41 SN TET e,

(c) TRRTZET® THY 48 SIH! SFaITE g, Saet 05 T 31, SHETSt 04 A T
e |

FHStE! For/d o/ a0ET e/ ? |

(1) (a) ¥f (b) (2) (b) ¥ (o) (3) (a) ¥ () @) (), (b) 3 ()

) Cdnsider the fdllowing statements :
(a) In the First Lok Sabha (1951), 72 seats were reserved for the Scheduled Castes and

26 seats were reserved for the Scheduled Tribes.

(b) In the 16th Lok Sabha (2014), 79 seats were reserved for the Scheduled Castes and
41 seats reserved for the Scheduled Tribes.

(¢} Out of 48 seats from Maharashtra 05 seats are reserved for the 5.Cs. and 04 seats are

reserved for the S.Ts. in the Loksabha.

Which of the statements given above is/are correct ?

(1) (a)and (b) (2) (b)and () (3) (a)and (c) 4) (@) ®b)and(q)

15.

T A STt STt H

(a) FTTgfaa SIen YR ot gd aEa |y 9o,

(b TIYfEa dren AfywrE™ wEdde fafie aRrie S S,

() argfaa e rfae-anfs faerarea faEem sheameea a@ 3o
gt I

(1) TR (@), b) (2) (), ©

(3) FH (), (0) | (4) e wd

The functions of the National Commission for the scheduled castes :

(a) To investigate all matters relating to safeguards provided for SCs.

(b} To inquire into specific complaints related to deprivation of rights of the SCs.
{c} To advise on planning process of socio-economic development of SCs.
Answer options :

(1) Only (a), (b) (2} Only @), (c)
(3) Only (), (©) {4)  All of the above

-
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16. BFEITECHN QO faum faarm =0 _
(@) 1963 7% TLuw.wR. Teuat A TdTYm IHAe ¥ gl ARl
(b) e I HEUE faaE WAl A0 A 1968 WS WX HS.
(©) SRR BHTE A1 SO (e §H3T S8 I3 T H T
(d) Sifama: 2013 9% FEae fadgwe daest war e,

Fhote B,/ d faar/? Tl e 2
(L (®) (@), (d) 2y @, ) @
(3)  (a) () () (4) (@), (b), (c), (d)

Consider the following statements regarding Lokpal :
(a) The term Lokpal was coined by Dr. L.M. Sanghvi in 1963, -
- (b) The first Janlokpal bill was proposed in 1968 by Shanti Bhushan.

(c) The Lokpal or Janlokpal bill has so far been introduced in the Parllament for eight
times. .

(d) The Lokpal bill was finally enacted by Parliament in 2013.-
Which of the statements given above is/are correct ?

1 (b)) (@ 2 (@ b @

(@) (@ ®) © - (1) (@ ®) @) @

17. SEREEEETR Toe faum faara =1 :
(a) TIFT TEA TG HIR TES § IS IS T 3R,
(b) DrrgFai= Y TEWAGET o .
(c) FARE IHEd Hew Ful 9 FIG G TAWSH TR SsTH .
Tied®! SR/t faur/3 w/E R/a?
1 @ame @ GAENE G @FTEY (@ (@) b A
Consider the following statements regarding the Lokayukta : o
(a) Maharashtra is the First State te-establish the institution of Lokayukta. .
(b) Lokayukta is appointed by the Chief Minister. ‘

{(c) Karnataka Lokayukta is considered as the most powerful Lokayukta in the country
Which of the statements given above is/are correct ?

(1) {a) and (b) (2} (b} and () () (a) and (0 4 (@), (b} and ()

FoAT FHUHEGS AT /SPACE FOR ROUGH WORK
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18. I7Y Y BET : ( MTara TLYat)

(2) o wlts g (b) 3R dweN

(¢ T 3w e (d) T TR 7R

LRI

D (@), {) (). (@) (2) (@ @, ®) ©

() @ @ ®.© @ @ @ ©) O

Arrange in an appropriate order (Presidents of India)

(a) Neelam Sanjiva Reddy (b) R. Venkataraman

(¢ Giani Zail Singh (d) Dr. F.A. Ahmed

Answer obtions :
1) @ )@ @ @ @ @0
3 @ @ 0 © @) (@), @ © ®)

19. TEoUS! SvR/d faam/ K0 SR/ ?
| (@) IARTHT FETe T T3 foramal ¥ T
(b) TGS WA I fTaRen S 3 AR SR aEEE W 9.
et I
1) *9 () @ & (b) @ ¥ (4) T
Which of the statements given below is/are correct ?
(a) Supplementary questions to the unstaired question cannot be asked.
(b) The reason for asking a short notice question is not to be given.

Answer opfions :

(1). Only (a) (2} Only (b) (3) Both (4) Neither
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20.

12 A

wftwien draide wRfTamT @ fem e o
(a) g DIFTNT B2 4.4% TEST TIEM DL

(b) 16 T AFHU T TGIHE FETA M.

et o/ A v sm/A?

(1) H (a) (2) wH () @ @sfae) @) T

Consider the following statements regarding women’s representation in the Lok Sabha :

(a) The First Lok Sabha had only 44% women members.
(b)  In the 16™ Lok Sabha, they have risen six fold.

Which of the statements given above is/are correct ?

(1} Only (a) (2) Only (b) (3) (a)and (b) (4) None of these

21.

T fagrer fEr %1 -
(a) . g YK ¢ Frm afEde ey 8.
(b) TiSH 1@ HHEH A § A T T TR,

‘W‘Hl‘a?ﬁ':
(1) (b)S0ET 3R 2) (a) T TR
(3) () (b) T TR A 4)  (2)d (b) T IF R

Consider the following statements :

() Dr. Rajendra Prasad was the Chairman of the Rules Comumittee.
{b) Maulana Abul Kalam Azad was a member of this Committee.
Answer options :

(1) (b) is correct (2) (a)is correct

(3) (a) and (b) both are correct 4) (a)and (b) both are wrong

THoeET HIHTRETS AW /SPACE FOR ROUGH WORK
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22. @ faur fagrmE =i :
(a) WOYd SHF AKIHNY A W ATIGIIF dedl THISHIS 7.
(b) TSI TREE YRR O ¥ O THI S A, wmmmmwg

Arieys g 3fee g,
(c) Tl TN JoVd T THNIAH 3Ra o ATICY® del HehRIeAs .
ot TR/ faam/ T e /A2

(1) (@ = o) 2) () o () 3) () ¥ (o) (4 (@), (b =)
Consider the following statements :

(a) Fundamental Rights are individual-oriented but Directive Principles are community
oriented.

(b) TFundamental Rights seek to establish political democracy. Directive Principles seek
to establish social democracy. :

() Inaway Fundamental Rights are negative while the Directive Principles are positive.

Which of the statements given above is/are correct ?

(1) (2} and (b) (2) (b} and (o) () @and(). (4 (). (b)and()

23, THE BR UM @R A3 ?
(a) PIFHAYA 2/3 TEAAH A Tl SUAFE AL gL FLl Ad.
(b) IRF ST AisvaE fHam T feaai=t A e orr.
Tt s :
(1) e (a) (2) e (b) 3 @ @ TR
Which of the following statements is incorrect ?

(a) Speaker may be removed from his office by a resolution of the Lok Sabha passed
only by 2/3 majority of the Lok Sabha.

(b) At least a seven days notice has to be given before moving the aforesaid resolution.
Answer options :

(1) Only (a) (2) Only (b) (3) Both (4) Neither
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24. wwmmmmmmv

(2) 104 mw’t . )
mlwwwﬁ @
T, N

(1) W (@), (b) 3 (0 e

3 wE (a) e @

12 & wENgER
16 9 SRAIGEE!

W (a), I(c) 3‘|Tﬁ'T I(d)
W (b), (©) Wﬁ" (d)

Which Consututlonal Amendments are related with the inclusion of new territories into

the union ?

(a) 10% Constitutional Amendment {b)
() 14™ Constitutional Amendment (d)
Answer ophons '

(1) Only (a), (b) and (c) BN

(3) Only(@) ()and (d) @)

12t Constitutional Amendment

16th Constitutional A_mendment

Only (a), (c) and (d)

Only (b), () and (d)

25.

@ ¥R @
© T @
whiw:
H)WMM© T _@i
e @@ @

© lndrajit cupta Committee ~ {d)
*~ Answer ophons : '

m oy@.®© @
@ Ony@ @@ . @

mﬁmmm—mmﬂmwﬂa a@naaﬁmﬂwaﬁa?

--wrﬂmaqﬁm
TR |

% (a), (b), (d)

T (b), (<), ()

Which comnnssnons and comtmttees are related to the reorgamsatlon of states or to the

union-state relations o -
(2) JVP Conunittee = (b)

Sarkaria Commission

Rajamannar Committee

Only (a). (&), (d)
Only (b), (<), ()
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(1) ﬁgﬂﬂmmmﬂmaﬁﬁwwma@ﬂ
@) e T TR SR 31 SR Hew e
(3) T T e TUeR ITH BIFEY HEE 31,
(4) IR FORAE TE
Which one of the following statements is incorrect ?
(1) Bihar has exactly half the number of MPs the UP has. - .
(2) Kerala has exactly half the no. of MPs Bihar has.
(3) Haryana has exactly half the number of MPs Kerala has.
- (4) None of the above : L

27. Yo dF faumiist SR dra e ?

(a) Wﬁmmmmﬂmﬁwugwﬁ

(b) Wﬁwmﬁﬁhaﬂmmwmmaﬁ m&;ﬂ?ﬁmmawq«:
T AR, W Eﬁaa'aitar ?ﬂ‘s‘\'a"f T e,

¢y aﬁﬁ" @ @ Sz (b) G I @ e

Which one of the following two statements is correct ? _

(28) A member of the State Legislature cannot contest for the post of Vice-President.

(b) The Vice-President can be removed by a resolution of the Council of States passed
by a simple majontv of the members with the House of People havmg nothmg to do

with it.

Answer options : . .
(1) Only (@ (2)  Only (b (3) Both < (4) Neither

28. YEi® M faumidst Five Ry o ?
(a) IS SR AT 99 21 T 18 T SN0 S,
(b) THUREA LA H0E 9 T fayriszi=n qe=ar TSaqguu asreir e
(1) %9 (a) () FEB(b) @G | @ @R
Which one of the following two statements is incorrect ?
(a) The fiftv second amendment reduced the voting age from 21 to 18 years. -
(b) The sixty first amendment outlawed defections by the members of Parliament and

state legislatures.

Answer options : o
(1) Only@ (2 Only(®) -  (3) Both . (4 Neither

HoeAll HIARG IR /SPACE FOR ROUGH ‘WORK. .
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29. @S faum fo=mg = :
(a) WA Srpgfem SR SRR T 2003 7w,
(b) T TR S SR U e Te S, S e e ST
() T gl et SRt 9ewiE TS 9 aviae Fet .
TR FRIR/Ar /Y ST SiR/9 2
O @aE) @ e @ v ) @ () s ()
Consider the fdllowing statements :
() The National Scheduled Castes Commission was established in 2003.
(b) The National Scheduled Castes Commission consists of one Chairman, one
Vice-Chairman and three members.
(¢) The members of the National Scheduled Castes Commission are app~nied for five
years.
Which of the statements given above is/are correct ?
(1) (a) and (b) (2} (®)and () (3) Only (b) () (a) and (9)
30. Edio faury faamma =

(2) W Wier wfidtet Tleeh o 99 23 fedfa 1946 Aoft Tt fireeht A% UR T,

(b) SR TR i, A, WE, ek it ¥ e s Wi frr S v wew .
(¢) Hfaum wd=n vfeem dowiw T I 9 uEE T 2.

Fhets! FoE,/d faum/ atER R/T7?

) @3;AMEH) (2 () A 3) (@) 3 () @) (@), b
Consider the following statements :

(@) The first meeting of the Indian Constituent Assembly was held between 9t to 237
December 1946 at New Delhi.

(b) Sardar Hukum Singh, K.T. Shah, Mahaveer Tyagi were the non Congress party
members of the Indian Constituent Assembly.

(c) All the Muslim League members were present i m ‘the first meeting of the Constituent
Assembly of India.

Which of the statements given above is/are corréét ?
1) @and(®) (2) Band©  (3) @and) (4 (a) (b)and ()

THEET HWTETE ST /SPACE FOR ROUGH WORK
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(a) WIETA TAEETAT 280 SN FSHTAR TG0 SETIE T4 Hot .

(b % TgIat ¥ 13 =41 faw SErmR eas ARA.
() Tau smarTa ssaeiiaiE 5 weE SEAM.
; ot HvR/H fHyF/Y TE oR/7?
| 1) @3AmE) () TN (@) @) ®3ME) @) () ®) ()

Consider the following statements regarding the Financé Commission :

(@) The Finance Commission is established under Article 280 of the Indian Constitution.
() B.K Chaturvedi is the:Chairperson of the 13t Finance Commission.

{¢) Excluding Chairperson there are five members in the Finance Commission,

Which of the statement/s given above is/are correct ?

(1) (@) and () (2) Only (a) (3} (b)and () 4) (a) (b)and ()

32. @elte faum fa=wm =
(a) T & ~AifEFREER T 2008 94 Fo.
: S (b) . Dbt g Ha ¥ T et g srend 2R,
; it o/t Fae/ e si/a?
' O @ @ e @ame (@ T
Consider the following statements :
() The National Green Tribunal has been established in 2008.
(b} Justice Lokeshwar Singh Panta was the first chairman of this tribunal.

Which of the statements given above is/are correct ?

(1) Only (3) (2) Only (b). (3) (a) and (b) {4) None of these

Hoe! THIATETE AT /SPACE FOR ROUGH WORK
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33 GoS fHun faanm wr
(a) YN HEUMMES 368 N SOHIE WaUH eI TRE FVER S AR,
(b) 2012 T vRatd SfaUHRE 98 SE&E H0A T HRA.
(c) fawm THE fadasw TeX FMA ULTAl= YHEudl Sevas s,
FholsT IR/ faed/A Sag s/ ? |
(1) = (a) (2)  (b) S (c) 3)  (a) S (b) @) ()
Consider the following statements : _
(a) The amendment procedure is provided for in the Constitution of India, under Article
368.
(b) There were 98 amendmenis to the Constitution of India till 2012.

(c) Prior permission of the President is required for introducing the amendment bill.
Which of the statements given above is/are correct ?

(1) Only (a) (2) (b)and (o) (3) (a) and (b) (4) Only ()
34. WH (A) T IR (B) wHie e o
T (A) it (B)
™™ fagie At
(a) Fg@ (i) HEW 371
(b) STEMET RN (i) HO9 371G
(c) WEAZ (iii) FEH 3711
(@ T (iv) ®@H371 H

(a () (© (@)
1 @ @) @ (i)
(@ @) @ §Gv) ()
@y @ @) @ @)
@ (v) @ Gi) (i)
Match List {(A) with List (B) :

List (A) List (B)
State Special Provisions
. (a) Mizoram - (i) Art. 371 '
g (b) Arunachal Pradesh (i) Art. 371G
* (¢) Maharashira (iii) Art. 3711
(d) Goa {iv) Art. 371 H

@ (b © @@
Q) @ @ @ G
@ @) @ & @
@) @ @ @ @)
@ ) @ ) )

TSI FHIAEE @R /SPACE FOR ROUGH WORK
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35. w@wie fauH faarm =0
(a) T SCTHETIF STEATNT TN 1982 Hedl Wid HEUISTII A,
(b) 5 FEMA Faz Tom, favam, e, dg o AT (TRElt) SR SeEEE
[ sfugfad F o
(© . TH.OR. T SR & W oTerEe i i s .
Tl FUE faE It R ? |
1) () 2 ()
@ (© (@) eltR wE T
Consider the following statements :

(a) The National Commission for minorities was established under an Act passed in
1982.

(b) Only Muslims, Christians, Sikhs, Buddhists and Zoroastrians (Parsis) have been
notified as minority cornmunities by the Union Government.

{¢) Justice MR.A. Ansari was the first chairperson of the statutory Commission for
minorities.

Which of the statements given above is correct ?

1) (a) 2) (b

3 (o) (4) None of the above

36. YRolE! FHv TSHiE NEISN I T A fuif Fam et g ?

(@) firERm (b) TS () Frgm (d) Fasem
() T () e ()

it Iy

1) (@), (b) (o) (d) (e @ @ (@) @)@

@ @ ®) @ (b)) @) (g)

Which of the following states have only one seat in the Lok Sabha ?

(a) Mizoram {(b) Nagaland {c) Tripura {d) Sikkim
{e) Goa (ff Chandigarh {g) Manipur

Answer options : ‘

@) (@), ®) ) (d). (@) @ (@, (®) ) O

(@) (@) (b) (@) 4) (b)) @

o HTEES AT /SPACE FOR ROUGH WORK
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Tt faum f9=rE =0

(a) ER A Hh WHSTIA ITEEGHIR TG A [ 2014 A1 Fel <. 9wt ¢ &
T ARG Faiy® faa swes gaud 2.

(b) 2 THIE ¥ WERIPKIS Halfteh foaqeer HESS JATT .

TSt RIvR /A faum /3 TET JARy/a? _

(1) T (a) (2) wF (b) (3) () afor (b) (@) IR

Consider the following statements :

(a) According to Audit Bureau of circulation the Hindi newspaper Damlk Bhaskar was
the highest circulated newspaper in India during January to June 2014.

(b) Dainik Sakal had the highest circulation in Maharashtra.
Which of the statements given above is/are correct ?

(1) Only (a) (2) Only (b) (3) (a)and (b) (4) None of these
38. TEIo g faumids! Hvd a9 R 2 -
(a) et fonea AT 1962 7Ed T30 U HETE RATHE SHETE Nehisl AES et
W HH T
(b) TRVTE 3 FEH el AR i, <ar i ged A9,
qTiEt I -
(1) *3% (a) 2) *E®(b) - @) & 4 T
Which one of the following two statements is correct ? .
(a) The scheme of Kendriya Vidyalaya was approved in 1962 te provide uninterrupted
education to the wards of the transferable Central Govt. employees.
(b) There are 3 Central Schools abroad in Moscow, New York and London.
Answer options : :
(1) Only (a) (2) Only (b) (3) Both - {49} Neither
39, TEIS faumiteT B o IR ?

(1) TG el 3Y- UL G2 UTIA! HS AR, |

(2) ¥IS UF IU-TgIAIFS UL Tere SAewa1 4K e e

(3) T U Afaad Ha® UHl IT-TLdies - o L. i, Tegudt varan sifuwar 1&g
Frafug TgyR T .

(4) T SU-TEI A A ST ST-TgYeit O e A

Which one of the following statements is incorrect ?

(1) So far six Vice-Presidents have gene on to become Presidents.

(2} Only one Vice-President had an additional charge of the post of President.

{3) In addition to the one above only one Mr. V.V, Giri had an additional charge and so
also the regular charge of the post of President.

(4) Three Vice-Presidents have retired as such without becoming a President.

FHOAT HIHTETS AR /SPACE FOR ROUGH WORK
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40, SNV JyrsHEdl TS ST w6 R

| (a) ST YA (b) ——TATEHTEl AU
(c) =T (d) W@ FEYEE g THEE
o IR
(1) % (), (), (9) (2) = (@), (), (d)
(3) @), b)) () o
The limitations on the right to freedom of speech and expression are :
{a) Security of the state (b Contempt of court
(c) Defamation (d) Sovereignty and Integrity of India
Answer options :
(1} Only (a). (b}, (9} (2)  Only (a). (0), (d)
(3) Only (a), (b), (d) (4)  All the above

41. TRRIE T TEEE TR faun faera =0

(a) AT AT T 9 W 2006 HEA A,
(b) 2012 =0 T wErAfee Faeu@ia o U 63 SN e,
(c) 2009 = faménﬁa-@[aﬂﬂmwﬁ 13 S fefehen .
(d) 2014 =1 faumasn FagvEla @ 9ams 3 S fse
TSI TR/ faum,/ SET anR/a? _
1) (a) 30 (b) ) ®), @@ @) (a) () @) (a) (b) FOT(C)

Consider the following statements regarding Maharashtra Navnirman Sena :

(a) Maharashira Navnirman Sena was founded on 9® March 2006.

(b) MNS won 63 seats in the Municipal Corporation elections of Nashik in 2012.
() MNS won 13 seats in the Assembly Elections of 2009. |
(d) Inthe Assembly Elections of 2014, the party won 3 seats.

Which of the statements given above is/are correct ?

(1) @and®) (@ O and({d) (@) ()and(Q) @) (a) (b)and (q)
el WA ST /SPACE FOR ROUGH WORK
| P.T.O.
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42.

22 . A
e q et S g T ?
(a) TN g WA FrersvE fam S ad o3,
(b) wfoe g Fgd Faeys fas dieoTel o
Tt S ;
(1) 9 (a) @ *W@H) (3 I @) TR

Which one of the following two statements is incorrect ?

(@) Telangana Rashtra Samiti has ‘Rising Sun’ as its symbol..

(b) Dravida Munnetra Kazhagam has a “car’ as its symbol.

Answer options :

(1) Only (a) (2) Only (b) (3) Both (4) Neither

43,

G faem o =i

(a) TTE Ifec WaQR 9 T 1952 Wed Fio.

(b) WA weht wARREY T, ofET $REE 2002 TR A,

© wﬂaﬁwmimwwmgﬁ

FHSTH HUR/A fauA/A aiET omy/a?

1 @a® (@2 FW (O (3) (a) 3 () (4) W (o)
Consider the following statements :

(a) In 1952, the First delimitation of constituencies was done in India.

- (b) . The Fourth delimitation was done under the Delimitation Act 2002.

() The last delimitation was done in India using the figures of the popuiation census .
1971.

Which of the statements given above is/are correct ?

(1) () and (b) (2)  Only (b) () (@) and () (4) Only ()

HA FTATHR I /SPACE FOR ROUGH WORK
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44, T G PR F R W @

(@) TT 2008 - 09 HEA TEHT 18 H5 faadis wma &eff o @ I v & o famrde
T,

(b) sfew st snfzamt faamds 2008 - 09 wei Wm'qm%mﬁﬁwmwam
Ted § TSR SSANEE TOTA i WA HA T,

ot T

(1) FaE (a) (2} F92 (b) @) & (4) wwE TR
Which one of the following two statements is incorrect ?. .

(a) Central Universities, in all 18 in number were established during 2008 - 09 in the
-~ states which did not have a central university. = . '

(b) Indira Gandhi Tribal University established during 2008 - 09 at Amarkantak Madhya
~ Pradesh is so for running only Undergraduate and Postgraduate courses without
the research facilities,

Answer options :

(1) Only (a) (2) Only (b) (3) Both (4) Neither

45, @ore faum faarm = ;-
(a) 2014 =M ?Er_wm FISUET 66,4% TEEH WS, HI X ATH GANUF IR,
(b) - 2009 =N TSN TOA & AR 32.71% .
FiehF wR/d a3 aiee Ry
1) FH () (2) e (b) 3 @aE) (@) W R
Consider the following statements :

(a) The percentage of voter turnout in the 2014 Loksabha Elections was 66.4% a record
high to date.

(b) Compared to the 2009 elections, this was an increase of 32.71%.
Which of the statements given above is/are correct ?

(1) Only (a) (2) Only (b} (3) (a) and (b)- - {4) Nore of these

HoAT HIWETS I /SPACE FOR ROUGH WORK
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46. WO faym I
(a) == foem Seai sl fammemdt shea SO
(b) WRAWiTe F54 farer deaim WaEl s=9 ey Feafae sigd 3w,
() I fawm s Tenfin TRMAT S 397 AAIES e Wik S
TR SO, G T 3.
(d) wraTe T I e Gl SIS TIIWIGA Gere S 291
T TN ST dEmeHia et S HuR gl Ra 2 _
1) (@), ) () (2) (a) =W (d) 3) () b) (d) @ (© @ @
Consider the following statements :

(a) to connect higher educational institutes with industrial development.

(b} to connect institutes of higher education in India with the forelgn institutes of higher
education.
() to connect institutes of higher education with local communities to address the
~ developmental challenges through appropriate techniologies.
(d) to connect all institutes of higher education with each other through internet in
India.

Which of the above statements regardmg the aim of Unnat Bharat Abhiyan are
incorrect ?

1) () () (C) @) (a) and (d) G @ b« 4 @) ©) (d)

47. T TIRRIG WAHTE TR ATHRS FIE W Ui R ¢

(a) forter daram () “EsH EElew - T
(c) ST WEISH - (d) W TR T
et Ie | ‘
(1} w1 (a), (), () (2) W (a), (0, (d)
@) ), () (@) (@ oW
Some of the prominent women in the main stream mass media are :
(a) Vineeta Shrivastava (b) Jayshree Khadilkar-Pande
(¢) Ulka Mahajan {d) Begum Imrana Samnani
Answer options @
(1} Only (a), (b), (4) @) Only (@), (c), (d)
(3) Only (b), {0), (d) (4} All the above

FoAT FTARTE WU /SPACE FOR ROUGH WORK
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48, FiACTm WM wug fhe vea fafuses Poeym wed sRovR SARaHeT S SEET
TS Hifgdl A :
(a) Sarforn T
(b) ET 9 IS G
() wdurE fri semde s
(d) SHEENE TS FhoEe

Ay Tate et
(1) - ®H (@), (), (c) (2) % (a), (), (d)
(@) $H () (o) (@) @) FH (b}, ) (&)

The Elec¢tion Commission calls for the following information on an affidavit. from the
candidates seeking election to the Parliament or a State Legislature __

(a) Educational qualifications
(b) Movable and immovable assets
{(c) Dues of public financial institutions
>+(d) Political History of the candidate.
Choose correct option :
“ (1) Only (@), (). (© @ Only (a) (), ()
(3 Only (a), () (d) (4} Only (b). (c). (d)

49, (a) TR 19 (1) (2) AW OATHIST TAIT WA FEQ 1951 7 Fex T,

(b)) VNG Gl S{E .19 (1) (a) WY | THIATETHR @R’ STeEd e

(€} VT UM ST ®.(19) (2) i IEvaE oo §9q | T e [t
B FTIHNS R4

(d) THRETEMIS W W WeSWET WG GEreAn e TRivEe FRvEn Ao TR,
SISt How faur et o ? B
(1) () () (2) (o) & (d) (3)  (b) 3w (d) @) (a) 3T (d)

- (a) The Freedom of Press Act was enacted in 1951 to give effect to Art. 19 (1) (a).
(b) Freedom of Press is implied in the Article 19 (1) (a} of the Constitution of India.

(¢} Y¥reedom of Press is subject to the restrictions that are provided under Article (19) (2)
in the Constitution of India.

(d) The phrase ‘freedom of press’ has been used in the Constitution of India in the
7th Schedule.

Which of the above statements are wrong ?

1) @and(®d) (2} (c)and ({d) @) () and (d) 4) (a)and (d)

AT WA AT /SPACE FOR ROUGH WORK
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TG IO ShEw qen (Taev@iares qEiots! HvE e TaH 74 7
(a) 1899 YO F3F VRIS AR SRR B TARR AT,

Gb) fasrit Shicarmen seafn sifyes T fawaret g,

() qnﬁﬁﬁa@ﬁmn@ﬁa@wa?ﬁ.

(d) TEF TS GHE Y .

it 3t
(1) (@) ®) ©) {d) 2} (a)y (b) (@
3} (@) (b), (d) (4) HH (c)

Which of the following is common to the methods of election of the members of Rajya
Sabha and Lok Sabha ?

(a) Every citizen above 18 years of age is an eligible voter.

(b) The winner must get more than half of the votes.

" {(¢) The Election Commission of India conducts these elections.

(d) Every vote has equal value.

Answer options :
M @) b)) @) 2 (@ b) @
3) @ @)@ | (4) Only (c}

HoAT HIMTHTS! WA /SPACE FOR ROUGH WORK
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S T
IA!' IBI‘

(a) WiF wEl (i) 2004
(b) §gEd A= (i) 1996
0 WA (i) 1989
(d) g : (iv) 1997
Tt I

@ () () (d)
1 @ @ ) 6
2 (i) @ @ @)
3 @) @) v} @
4y (@@ @) @ @)
Match the pairs :

IAF IBI

(a} National Front (i) 2004
(b) United Front (iiy 1996
(0 NDA (i) 1989
(d) UPA (iv) 1997
Answer options :

(@ B (@ (@
(1) (@) @ ) @
2y @) () { @)
@) @) (i) @v) (@)
@) @G G @ @)

LO6

52.

T, e A= wewla wee favn o o

(a) O TR WA WEUT 3R,

(b)  FFEIE WGH el

(c) T TR gawEt T .

(d) ¥ foum wnag A TN A 36

FiodT Hive faam aiEw a2

M (b)) @) (@) () @) (o = (d) (4)
Consider the following statements in connection with Sharad Joshi :
(@) He is the founder of Shetkari Sanghatana.

(b} He was a member of the Lok Sabha. '

(¢} He founded the Swabhimani Party.

(d) He was the founder leader of Kisan Coordination Committee.
Which of the statements given above are correct ?

(1} (b)and () (2) (b)and (d) (3) () and (d) 4)

(a) ST (d)

(@) and (d)

FHoeAl HIUEER A /SPACE FOR ROUGH WORK
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53.

ST o

‘AT ' : B
(a) Orewfatieiic fufm (i) 1959
) TEud 9 IREYd Frevs afufem ) 1950
(€) T (wagREs) sifufEm (i) 1952
(d) FER (39 Wiqey) sifefEm o (iv) 2002
fer I

@ ®y (9 (d)

1 @ @ @ ()
2 G @) @) @
(3 @ v}y @) @)
4 @ @ @ )
Maich the pairs : '

£ Al‘ ) IBI‘
(a) Representation of People’s Act @ 1959
(b} Presidential and Vice-Presidential Election Act (i) 1950
(c) The Delimitation Act (iii) 1952

(d) The Parliament (Prevention of Dlsquallflcatlon) Act (iv) 2002
Answer options : : S
@ ®) () (9
1 O G) @) (G
2 @ @) @) (@)
G @ (v} () ()
4 @ G O @)

54,

1991 ST 1998 1 TR FrasTwiga, mwwmmm
W saa g ?

(a) TR 370 | FW

) WWWWW

1) Wﬁmtzwﬂ

(1) (b) © @ K@k @G TWa@ @@ @00
During the 1991 and 1998 general e]ecnons the manifesto of Bhartlya ]anata Party
contained which of the following :-

* (a) .To abolish the Article 370.
- (b)- To enforce the Uniform Civil Code.

{c} To abolish the Minority Commission.
Answer options :

(1) Only(®),() (2 Only@ () () Onlyf) © ¢4 f{a)®)©

28 A
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55. Hied odl :

‘Af B
(a) Fomdis srgem M @ 1972
OIRLTE A = afo - - () 1969
(c) e T ST W gfte] (iii) 1956
(d) TIEE < 3 (sHfae wwata 17 fagor wfieg) (iv) 1945

@ ) © (@
@ @) @ O 6@
(2) @) @ @ @)
@ @ @ @ @)
@) @ @ @) ()

Match the pairs :

: ' A _ ‘B’
(a) University Grants Commission @ 1972
(b) Indian Council for Historical Research ({iiy 1969
() Indian Council for Social Science Research (iii) 1956

(d) AICTE (All India Council for Technical Education) (iv) 1945
@ B @ @
1) @) v @ @
@ @) & W @
@) @) @ @ @)
@ @ O @) (i)

56, I e T TR e ST S Ty FOO G Javt nfvn s

Ba anfvr St qUeie S0 AEvEE HO FIS FI0arE] I F B
(1) & ia (2) A AR FT TE

(3) . TR fem | (4) =T IR
Committee recommended that there should be a law requiring all recognised
. political parties to keep audited accounts with sources of all income and details of expenses.

.(1)_' Dinesh Goswami (2) Jt. V.R. Krishna Iyer
(3) Jt Kuldeep Singh 4y V.M. Tarakunde

ol HER™ WO /SPACE FOR ROUGH WORK
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57. WS faum = | '
(a) 1960 <1 TUHIIHA TRMOHe oA Sl ame afgamE .
(b) W AEE T SR A A= erE fHermed SEE SRemen 4R gEe

F.

) Wl%Oqa%w@ﬁﬂmwaaﬁﬁﬁWwwwwﬁvhﬁ
ATV HIUAA I,

(d WW@W%@%MWWW@WWW
HeeE ST T HI0A1G AT

WA Siadt sreEEE sttt PO fuR stie aa ?

(1) (@) (), @) 2y (®), (@, @

3 @ b, (1) o T

Consider the following statements :
(a) Reservations for the OBCs were in existence in the Southern States since the 1960s.

(b) In the North India Karpoori Thakur, the Chief Mlnlster of Blhar, introduced a policy
- of the reservations for the OBCs in Bihar.

(¢) In August 1990 Central Government decided to implement reservations for the OBCs
in the jobs in the Central Government.

(d)’ Mandal Conunission was set up to investigate the extent of educational and social
backwardness among various sections of the OBCs in Indian society.

Which of the above statements are correct about the OBC reservations in-India ?

(1) (a) () @) - (2 ) yd
(3) (@), (b), (C) (4) None of the above

58. wﬁamvwaﬁmamﬁmﬁﬁﬁmm | | |
() FFHTT 5 75T T T T8 TRV AT eV ST T T TRV W e .
(b) TEUAY HAAE WA 8% HA ﬁaﬁqummﬂ'ﬂwmﬁwﬁ@aﬁ
Tote FoR/ Ay e SR/ L
(1) ¥ () @) ¥ () (3) '3'%‘ : @ W T
Consider the following statements regarding Political Parties in India :

(a) A party gets recognition as a Ndtional Party if it gets recogmhon as a State Party in
at least 5 states.

(b) A party should win a minimum 8% of the total vahd votes polled in the state to get
recognised as a state party.

Which of the statements given above is/are correct ? : -
(1) Only (a) (2) Only (b) (3) Both (4) Neither

el S AR /SPACE FOR ROUGH WORK
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59, WO G fermwra v
(a) A A Aew fqaea TN 2004 T GE 9,
(b) . AT FrareaimE 60% T ST, S, ST, TR, T AW SR S A G
alieis! wiva/H faum/3 atET sm/a?
(1) ¥R (a) (2) N (b) (3 & @ T A
Consider the following statements : |
{a) Kasturba Gandhi Balika Vidyalaya was launched in 2004.

(b)  Under this scheme 60% seats are reserved for girls belonging to 5.C., 5.T., OBC and
minorities

Which of the statements given above is/are correct ?
(1) Only@  (2) Only(h) (3) Both (4 Neither

60. T ST VT (3) et Tt e foreama -
(a): ama”rwm 2012 94 .
) 2013 =N feedt faume frasumia sieea wHiwmET 98 O &9 3 3.
() 2015 = feeo faurmam frasuia o 70 36t 68 ST fiiwe,
0ot Fow /it faary/ sl /e 2 |
(1) . VW (@) @ ®meaRiQ @) @E @) T

Consider the following statements regarding Aam Aadmi Party (AAP) : -
(a) " AAP was established in 2012.
~ (b), . AAP emerged as the single largest party in the elections of Delhi Assembly in 2013.
(¢} In the 2015 Delhi Assembly elections AAP won 68 out of 70 seats.

Which of the statements given above is/are correct ?

(1) (@) only (2) () and (g (3) (a) and (o) 4) () only

el HTATHIES! AT /SPACE FOR ROUGH WORK
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W wehTeT W g’ e gE Fer o

(1) 3 faeneain Teeh 3= foeror SvgrarEt

(2) 39 et witrer faamr SvammeEt

(3) 3o faenestn == W T qof SvgrEE

(4) oo faemeaf=an w=iwei

The Government of India has introduced Saksham Scholarship scheme for :
(1) differently abled students to pursue their higher studies abroad

(2) differently abled students to pursue technical education

(3) differently abled students to complete their school education
(4) schools of differently abled students

62.

T foreiate At e faum faraw i ;

(2) @oFi foemiigi faardia orgM ST Hi 2.

(b) VRETd SNY HSIWE Haid e @il faemdits s,

() TSUMIE qalq HH WEFT faemie smeq.

Tliote! FvE/d /3 sRE] T/ ?

(1) (a) S (b) (2) (b) A (c) 3) @) (4 FH (a)
Consider the following statements regarding Private Universities :

(a) Private Universities are approved by the University Grants Commission.
(b) Andhra Pradesh has the largest number of Private Universities.

() Rajasthan has the least number of Private Universities.

Which of the statements given above is/are incorrect ?

(1) {a) and (b) (2) (b and (9) 3 '(a).and__(C)_'_ (4}  (a) only

63.

Te faur faamm =

(a) WTHEATA VT YRS goi fermmeatn sum <=ie Wmﬁawwm@
ST S8 L. |

(b) wqﬁﬁaﬂﬁam?ﬂwuﬁwwﬁwﬁam%

Fhets FvR/H fawr/3 atE SR/9? o

(1) = (a) (2) TR (b) @) @afmE) @ IR TR

Consider the following statements :

(a) Jawahar Navodaya Vidyalaya Scheme has the objective of providing good quality
modern education to the talented children predominantly from the rural areas.

(b) Jawahar Navodaya Vidyalaya Scheme is being implemented in all the states.
Which of the statements given above is/are correct ?
(1) Only (a) (2) - Only (b) (3) (a) and (b) (4) None of these
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1950 = SIFRUTAHE e [EIGTH SV SEiw] Tafaq SR ?
(a) AR AT TR HI, F(q TG0 F

(b) vihd HATRT ST ST

(¢) WdERI= SHIEAgE HagR T 99 S0

(dy TIESVFRETAN Har= Freri

(e) TP waeR feord Hem Fa0

T I

(1) (@) () (o), @) ) 2} (@) (b}, (©) (d)
3 @ @ @@ 4 @, ®) (©

The Representatives of the People Act 1950 deals with which of the following matters :
(a) Preparation and revision of the electoral rolls

(b} Issue electoral identity cards to the registered voters

(c) Preparing electoral rolls with photographs of voters

(d) Counting votes during election

{¢) Celebration of National Voter Day

Answer options : '

1) (@), ®) () (d) (e 2 (@), ®) () (9
(3) (@) () @) (e 4 (@) () ()

65.

T faum & -

(a) TraevE fSFT AR THU Fioew AaEHNS! Sgaan Hasga 4al

(b) TER YISl HAZM FLaW.

() FraeUE fNFN IATER T WO HagHF! JgHar FagT ddmE o7& e,
(d) T Fan A wfafeht o wedt Fraean .

TR T fasum Teds atetst SR/ St w@a?
W) @aME @ GaERE @) W () (c) 3T (d)
Consider the following statements : -

(a} Candidate who wins the elections gets the majority of votes.

(b) Voters vote for a party.

{¢) Candidate who wins may not get majority of votes in the election.

(d) More than one representative may be elected in this method.

Which of the above is/are not the feature/s of the Proportional Representation Election
Method ? _

(1) (@) and (b) (2} (b) and (c) (3)  Only (c) 4) (d) and (d)
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66. Tore fauA o =
(a) . TS =R Wikt 2005 78 VR S B
(b) TR WA ALTOAR IR TR JEOHI= T4 2.5% a6 3T,
(c) ST T S AR 18% TROH A
LN ﬂﬁ“ﬁﬁﬁ faym/3 e /a2
(1) K (a) (2) () snfr (b) (3) K (o) (4) (a) 300 (o)
Consider the following statements :

(a) Justice Rajinder Sachar Committee was appointed in 2005.

(b) According to Sachar Committee report the overall percentage of Muslims in
bureaucracy of India is 2.5%.

(¢) Muslims contribute about 18% of the Indian population.

Which of the statements given above is/are correct ?
(1) Only (a) (2) (a)and (b) (3) Only () (4) (a)and ()

67. 34 7 A7 framoman gut Yewordt Hower At Fatuw @ ?

(a) wFe FRSF AR (b) T\ TFAS WA
(c) oT&w foraee wfimt (d) TR SE-wfEt
a3t

1) @) ©) © @ RO, © @
B) @) © @) @ (@) O) @

Which committees are related with the improvement of the standard of Higher and
Technical Education ?

{a) Anil Kakodkar Committee {b} Ram Takwale Committee

{c) Arun Nigwekar Committee (d) Mungekar Jadhav Committee !
Answer options : ii
(1). Only (a), (b), () (2) Only (b), (<), (d)
(3) Only (a), () (d) . (& Only (), (b), (d)
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68. ‘SEY ¥ UK &l AL g’ & 0 TS AR faw oM. W TEtodw! Hivedn AW el ¥

g IuTer A 49 TR S YRdTE e st e feie ARk swae A
fagE arm?

(1) W AT FEER (2) F@
(3) ™ 4 T

BSP is a National Party. Elephant is a reserved symbol of BSP. But, it is not accepted in
which of the following states, where BSP has to select symbol from the list of free symbols
specified by the Election Commission of India ?

(1) Jammu and Kashmir (2) Kerala

(3) - Assam (4) Tripura

69.

Ao s T g fawh wotst s faam e aR ?

(1) Fremdiiz sER S (UGC) srevdeis faamatardt o s T fersaget e
T TR

(2) ﬁmzmwwgam

(3) T A onfie TRRY A HanE faEE SRR S 9K

(4) T AAFTR SeTHEF TIEARTS TAsondl SHeaNiT A TR, 7Y WU El
w1 GHNAEET Hdugea TP HEA 58 W :

Which of the following statements about the Maulana Azad National fellowship is
wrong ?

{1) University Grants Commission (UGC) has been implementing the scheme of Maulana
Azad National fellowship for the minority students.

(2) This fellowship scheme is being implemented since 2009.

(3) This fellowship scheme is being funded by the Ministry of Human Resources
Development.

(4) Under this scheme financial assistance is provided to the selected candidates
belonging to minority communities for pursuing their M.Phil/Ph.D Research.
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70. UL ISR e Ffirmmeyls Tetets! arg faar wiva o ?
(1) 2010 H%2 & AT T R [EFA e TR,
(2) aﬁmﬂmwﬁaﬂamﬁﬁ&rﬁmmmwmmﬁtﬁ
TEN IR AR,

(3) Fiere fahramans! QEt= e ogrd Wit Jiem ST T vt fre s
fadiT Fvam A AR,

@) WRRE AaHde Q FO 8 AT AEEE SR YA o9 feror Hen o st gew
Tireqor Tieey T STEVIFAT WRTG 1= SHROT F6 3o fETRToren §t Seavae=n e R,

Which of the following statements is correct about the Rastriya Uchchatar Siksha Abhiyan
(RUSA) ?

(1) Itis a centrally sponsored scheme launched in the year 2010.

(2) It aims at providing strategic funding to eligible state higher educational Institutes
and Central Universities.

(3) The former Central Scheme of Polytechnics to enhance skill development has been
subsumed within RUSA.

(4) It aims at correcting regional imbalance in access to higher education by setting up
institutions in unserved and under served areas. -

71. ‘‘UF e w0 mﬁv@aﬁ e F0'" TSI HRID FWIFN T Fit FS

}?

(1) foom o v (2) ¥ TR

@) .= T (4) YR T wwi

Who said the job of a Governor is “to run a hotel and entertain guests” ?
(1} Vijaya Laxmi Pandit (2) KM. Munshi

(3) N.V.Gadgil (4) Shankar Dayal Sharma
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72.  EUISEdl WH AR A4 F Ui w7
(a) RO 50% ERSR A7, @ 377, TARS 4.
(b) THHM 33% SIS afge .
wafdt I ;- |
(1) %9 (a) ) Faz (b) @ A (4 TR
In the Swarmajayanti Gram Swarozgar Yojana what is expected ?
(a) Atleast 50% of Swarozgaris are from SCs and STs.
(b) At least 33% of Swarozgaris are women.
Angwer Options : .
(1) Only (a) (2} Only (b) (3) Both (4) Neither

73. w?jmwmmm ?
(@) AfgeraEE (TR =V e wecen wiiet) sraEaE W e EeT,

A9 .
(b) mwmmmwm
widwar:
(1) 92 (a) (2) S (b) (3 W& (4) TSR

Which one of the following two statements is correct 7

(a) The Borstal School organising vocational training for young Borstal women (young
worthen who are convicted of an offence) is at Yerawada, Pune.

(b) The Jail Officers Training School is located at Kolhapur.
Answer Options :
(1) Only (a) (2) Only (b) (3) Both (4) Neither

74.  TEte 2 faumitst |vR wg TR ?
(a) TEIHITE U T TERATGSS Ufead $1d A
(b) FTETE T F § WEARIIiosd Sfar] s1 R,
i Eﬁ"l‘_ :
1) ¥=@@E@ 2 FT=BE) @) = (4) T
Which one of the following two statements is correct ?
{a) Naming public streets is a discretionary function of the Municipal Corporatlon.
{(b) Construction of Akharas is an obligatory function of the Municipal Corporation.

Answer Options : .
(1) Only (a) (2) Only (b) {3) Both (4) Neither
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75. W IR FauM SR T ?
(1) wRFPRAfes HomH 7= b ffres Foam e I,
(2) HETIRUIGHTT FIHFH UTS qEGT S Fivics ferdia Fefaan a9 e
(3) HeHeHEN TRftuda AerTRuIfoRe FemEt T aEt AfuE F1e T 1% awal
(4) o TwHd T
Which of the statements mentioned below is incorrect ?
(1) Duration of a Corporation is fixed for five years.
(2) Duration of a Corporation cannot be extended beyond five years

(3) In an emergency duration of a Corporation can be extended beyond five years.
(4) None of the above

76. ﬁ@mﬁlﬂwmaﬁm
(a) FREE YR w0
(b) ST HEHE e HA
(o) VT FEGAE SHeEri H
o (d) FN FEEN W& 20
(e} HIEH FA st A
i g
M) @) ) (o) T A s
@ (@) @) (@ fam A e
@) (), (d), () Taum diva
@) () ), d) faum dma sea

As a District Magistrate, Collector’s functions are :
(a) To inspect jails '

{b) To collect land revenue : ' : (
(c) Enforcement of Stamp Act _ _ |
(d) Issue of permits for the cutting of trees ' i

{e) Enforcement of entertainment tax .
Answer Options :

(1} (@), (b), (c) statements are correct
(2) (a), (d), {e) statements are correct
(3) (o), (d), (e) statements are correct
(4) (b}, (), (d) statements are correct
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77. fauFR= SeEmEET (W) WTee faur faem |
(a) ™M fHaFETR A HEE o0 W oW e W8 & 09 e
(b)  STTIE TS, A WEIT SE TS, T Waryd A d@ g1 95,
() TayFEI=a TR TgH HACH WAl WIEAAT TR ST R F7 01 GEEe

EAGICEC _

(d) TEEET W FOHEE SUE, dF HETAET S FSacaNTgT FEA T AfgarEt 9w
IE AT TS AR T,

i Y&t SR faum/faam siaT aRa ?

(1) (a), (b) 3V (c) (2) (b} #M ()

3) (a) (b) () ) T (a)

Consider the following statements regarding the Speaker of the Legislative Assembly :
(a) He shall vacate his office if he ceases to be a member of the Assembly.

(b) He may at any time by writing under his hand addressed to the Governor resign his
office.

{c) He may be removed from his office by a resolution of the Assembly by a majority of
the members present and voting.

(d) No resolution for removal shall be moved unless at least one month’s notice has been
given of the intention to move the resolution. :

Which of the above statements is/are comect ?

(1) (@), (b) and (© @ () and @
(3) (a), (b) and (d) (4) (2) only

78. TSI ‘fah FH " WU HIUIST AZES IR ?

(1) e faEE Afiedt (2) 7= |Ea

(3) oty 4y Tavria s

Who is known as the ‘Development Commissioner’ for the state ?

(1) Block Development Officer (2) Chief Secretary

(3) District Collector (4) Divisional Communissioner
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40 ' A

IR Tgwead ‘afde =’ § g RIGRRCE A

(1) SEAT 30 goyd IfHR

(2) S A0 ATiEES T

() TSE AUFR 0 GPiCYH T

@) Fola wwE T

‘Economic Justice” as an objective of the Indian Constitution gets expressed in
(1) the Preamble and the Fundamental Rights

(2) the Preamble and the Directive Principles

(3) the Fundamental Rights and the Directive Principles
(4) None of the above

80,

b

TavieTEdl T TN GIed @ ISR SIERO[: Qoo U Tée SThaid
(a) TTHT TS WY GEEEn e WS

(b) @ g AR

() foF wEi e

(d) IvaTE giadieh It

(€ M

M) (@) (), (©, (), (@ fum T swa

2 (@ (b), () FUR T 3wRA

(3) (a), (d), (e) Taum A 2z

@) (b)), (d), (e) Taum A7 R

Swarnajayanti Gram Swarozgar Yojana is basically covering all the necessary aspecis of
self employment which include :

(a) Organisation of the rural poor into self help groups

(b} Their capacity building

{c) Planning of activity clusters

(d) Infrastructure build-up ‘
(e) Technology

Answer Options :

(1) (@), (b), (c). (d), (e) statements are correct

(2) (a), (b), (c) statements are correct

(3) (a), (d), (e) statements are correct

(4) (b), (c), (d), (e) statements are correct
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81. qdte <A faurtitst wd T e ?

(a) WRAKS TfEPl TEAREoR Fewa WEEra! 1687 T E1YT HI0I ATt i,

(b) TEFRRUTGFNS STEd W 5 G T 9 T8 Tham.

W e @ o @ @ TR

‘Which one of the following two statements is correct ?
{a) The first Municipal Corporation in India was set up for the city of Calcutta in 1687

(b) The maximum strength of nominated members in the Municipal Corporation can
be 5.

Answer Options :

(1) Only (a) (2) Only (b) {3) Both {(4) Neither

82, YEI® I faumiteat o awT TR ?
(a) TERH S ITTEATA! TE HTHS Sl B
(b) rmmzﬁa BTN WA FEE St0@ TR
W FEE @ = @ ¥ ) TR
Which one of the following two statements is correct ?

(@) The offices of the Chief Minister and the Deputy Chief Minister are constitutionally
created.

(b) The Constitution says nothing about the qualifications of the Chief Minister.
Answer Options :

(1) Only (a) (2) Only (b) (3) Both (4) Neither
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83, foemr W= ‘vo AT 9 Tewal WiHAA] WHSE Woodst S S e
R ?
() T svege 7 4 whadien vefig SuE saa.
(b) wd fova afreR v € vefts wew Swam.
() ITTSA FEFH S (9rE) € WEW wfed A
(d) - TR SR AfUF ¥ g sew ARam
it I : |
1 © @ @@ @ OO @ @)@

Which of the following statements regarding the composition of the ‘water' management
and cleanliness’ commitiee of the Z.I’. is not true ?

(a) President of Z.P. is an ex-officié Chairman of this committee.

(b) Chairmen of all sub]ect com:mttees are the ex-officio members.

(€©) Deputy Chief Executive Officer (Panchayat) is a member secretary
(d) Chief Executive Officer is an ex-officio member.

Answer Options :

w ©@ - 2 (Qand(d @) ®) @) @ @ (@) ) () (d)

84. iz T W R WO T :
(a) fomea W @ Foqeren TEv.
(c) STF W W;We[ it lﬂar ],
(&) TR T aqemmﬁm*ﬁmwia@m
TiwtE S faa atEw aRg 2
W @@ @ @IL () @MO @ @O0d )
According to Potter, district administration means to : B
(a) maintain law and order in the district. ' : .
(b) ensure that justice is done and rule of law prevails. '

() impose and collect a number of taxes.

(d) take immediate action in case of a calamity or disaster.

Which of the above statements are correct ?

(1) () and (d) (2} @and(y) B () O) ([ @ @ 0) @@
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(1) T AT e T T & Hi s i oot s P o,
) ;ﬁmwuaﬁaﬁ@mma‘ﬁw'aﬁﬁ‘EW'm.maﬁﬁw@wm
(3) @ ¥ AR 1772 993 FaeafesR (Collector) a1 waTe ﬁrﬁ?ﬁﬁ -
(4) 3Tea $w-1935 7 Negiyswit 71 W o%e F0. -'
Which of the following statements is false ?

(1) The present form of district administration in India is a mlxed creation of the Mughal
and the British rulers.

(2) During the Mughal period, the head of the district was ‘Fau]dar who worked
under the direct control of a ‘Subedar’. Lo

{3) Warren Hastings created the office of the Collector in 1772.

- (4) India Act 1935 strengthened the position of the District Collector, -

86. T A faumitet B A ok 2
(a) T STEIMER A990F & T FEFH Fasd SR,
(b) T TeealIET WA YRR T T SER S,
wafd S
1 FE(@ (2 FAS(b) G W @ wET@
Which one of the following two statements is correct ?
(a) Appointing a Finance Commission is an Executive Function of the\Govem.or.
(b) Enjoying immunity from civil proceedings is a Discretionary Power of the Governor.
Answer Options : |

(1) Only (a) ) Only (b) - (3) Both @) Neither
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87. TEMTR@o TR Hier= T ;

(@) W@ TRASHE .

(b) Frt wuTeE Teadt frga g

(©) mmﬁmmummﬁwﬁﬂvﬁﬁnwm

(d) Tor i FeTaRH sres 1, o Aer wyved f faaw faeer o

Ttreta) FoRy/ ot /e SR o/ ?

1) ) = (2) (a) S (b)

(3) (@) (b), (0 N (d) @) (a) @) 3T(d)

Constitution of the Standing Committee of a Corporation :

(@) Consists of sixteen councillors.

(b) One-half of the members retire every succeeding year. .

(¢} Any Councillor who ceases to be a member of the Standing Committee is not eligible
for re-appointment.

(d) The responsibility to elect Chairman is required to be fulfllled by the Standing
- Committee within a period of thirty days.

Which of the above statements is/are correct ?
(1) (b)only (2) (a) and (b)
3) (@) (b) (c) and (d) @ (2, (b) and (d)

88. ﬁuwaa@mﬁmm W/Wﬁmmmmﬁwmaﬂmﬁaw
FLAHE TG A Sq0AT SEdT SR 2 1

1) 9= @)  9B=n (3) 94w @ s

By which Constitutional Amendment SCs/STs and OBCs have been given reservation in
the private unaided educational institutions ?

(1y 92nd (2) 93rd (3) 94th. . (4) 95th
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89. VU WfirieN TWTR{E AT ST WASIR B A R AR ?
(1) WW%W%WWW

(@) 93w & A i o 38 sfaver 50w o AT g st
. _

(3) WvIvdt=n Faeu@ien TR wE Aferen A S SR AfqwErarE e Hisdl
Ad R

{4) AT U9 TEHS heevE el W Hwel Nel T aRAuNd Fel Afgsren s
STfavaraTan 37 TEEIEl SR J0IR A,

Which of the'following statements is false with regard to no-confidence motion against
the Sabhapati of Panchayat Samiti ? :

2
(1) Trequires B majority to pass the no-confidence motion.

3
(2) where the office of Sabhapati is reserved for women, it requires 1 majority to pass

the no-confidence motion.

{3) no-confidence motion shall not be moved within six months of the date of election of
‘Sabhapati.

(4) once the no-confidence resolution is rejected, no confidence motion shall not be
moved second time within six months of the date of rejection.

90. WEGIH! TR w1 STEYRTY FATUFFEST IR TSR 9 A ?

(1) TR 3 TA (Records) i 3qvar SEIRT

@) i T T 3 e

(3) AU WHY greh e SEATeEa o 2
(4) AR TEA |
Which of the following functions is not performed by the Sub Divisional Officer ?
(1)} responsibility of maintenance of maps and records.
(2) assessment and collection of land revenue.
(3) deciding the questions of the rightful ownership of a disputed land.
(4) issuing the arms licences.
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91, @r%ﬁ‘@ﬁuﬁfaamw

(a) TRUSH TS Gl 98 € Sggdia awdl, SIEe s, q&mammm
TS TS,

(b) T TG WS, aﬂt@aﬂmwwﬁwmmaﬂﬁr@a
IS YT TEIEl g wey v,

T W :

() o (a) TR (b) TH
() B (@) 5 () TR
(3) = faur s

4) QA faum g

Consider the following statements :

(a) There shall be reservation for the office of the Chairperson in the Municipalities for
the scheduled castes, the scheduled tribes, women and the Backward classes. '

(b) A member from the reserved category can seek an election for the reserved post of
the Chairperson eventhough he is elected as a member from an unreserved
constituency.

~ Answer Options :
(1} Statement (a) is correct (b) is false
(2) Statement (a) is false (b) is correct
" (3) Both the statements are correct
(4} Both the statements are false

92, GO TNTEEHIY GUR AN = e e Il s 97 ITTEM TR
Fon 8.
(1) WX % g 78 T
(2) IFASBM FHT FUIET
(3) 3 wrE{n s T T W
(4 i =TT

The Second Administrative Reforms Commission has subtitled its report on ‘Local
Governance’ as :

(1) Master key to Good Governance

(2) Unlocking Human Capital '

(3) An Inspiring Journey into the future
(4) Scaling New Heights

FHoen WM 9T /SPACE FOR ROUGH WORK
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93. YEie S faumitest Fm dra ang ?

(a) TN/ N.UE. Hi aﬁé‘émuﬁrm%*ﬁw@?ﬁ? CE el RERINICT
4.
() TR wiR
(i) ot fobe o wferor &
(i) TR wiineor
(b) TR YT ST.Q . 9 L TE. AW A T, TR AT W 3 A
AL 9 T TF THII! qﬂ;ﬂmﬁ e =,
i I
(1) +a% (a) ) %83 (b) (3) TR @) T
Which one of the following two statements is correct ?
 (a) Induction training for the IAS/IPS is divided into the following three phases.
(i) Foundational training
(i) District or Field training and
(iii} Orientation training

(b) Foundational Training for IAS and I’S was initially imparted together at Mussorie,
then separately at Mussorie and Hyderabed now once again together at Mussorie.

Answer Options :
(1) Only (a} (2) Only (b) (3) Both (4) Neither

94, WA Fiv fayE FhET T ?
(a) ToAs foefasmrar fraws s fasm el 9 S ageT ST,

(b) TRGRRES JaArwe fawmmes w0 feefusrasfaiE gaa sfsrme Svam
HIS R

vaidt T |

1) *F@B@a) ~ (2) FE@ (b) (3) == @) AT

Which of the following statements is not correct ?

(@) In Guijarat the Collector looks after the regulatory and development functions.

(b) In Rajasthan like in Maharashtra the developmental functions have been assigned
to a separate officer and not to Collector.

Answer Options :
(1) Only (a) (2) Only (b) (3) Both (4) Neither
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(@)
(b)
(©)
(d)

(1)
(2)
3)
4

(a) i gl
(b) @rafTEA Wit
(c) WITE wfit
(d) o S
et s

@ ) © @
@ () (i) (u) 0y
(2) @) @v) @ @)
@ @) @ v 3
@ @ @ @ @

Financial Committee

Departmental -‘Committee

House Committee

Scrutiny Comumittee

Answer Options :

@ ® @ @
) @ @ 0
@ ) 6
@ @ @ @
@ 6@ O @

* L4

95. T WITS= YHI=Ed Wiel @l -

)

(i1)
(1)
(iv)

FIFHT HeSwTR Wikt

e fafafm et wfid
AT ST Wi
S v i

Match the pairs with regard to the categories of standing committees :

{i) Business:A'dvisory Committee
(i) Conmmittee on Subordinate Legislation
(i} Committee on Public Undertakings

{iv) Committee on Commerce
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TERTE U5 fAfidi=n A, 1% 1960 T, 12 0T [aum €4; Toeis! S, amed gaifae
A ?

(a) T fasm

(b) HeEHR 3nfm wior fomra fam

(c) o it AR qeeeT faum

(d) T anfen St faam

it 39T |

(1) (a) 30 (b) (2) (a) S (c) (3) () 3nfor q) (4) (o) 3nfor (d)

At the time of formation of Maharashtra state on 1st May 1960, there were 12 Mantralaya
Departments, which of the following were not included then ?

(a) Planning Department

{by Co-operation and Rural Development Department
(c) Food and Civil Supplies Department

(d) TIrrigation and Power Department

Answer :Options :

(1) () and (b) (2) (a) and (c) (3) (b)and (d) (4) () and (d)

97.

WABIF R faar g o ?
(1) ToawEA SRR var g sfuers afireTs Ter San s wuE e,

@) e Ou TR WETRIIRR S e fevlarh Sraes quEh wie,

(3) H@@'@TWWWWW

4) qﬁmg@wﬁwwwmammmw
THRTATR 9 8O,
Which of the following statements is not correct ?

(1) The State Government shall appoint, on deputation a suitable officer as the Municipal
Chief Auditor. _

(2) The Chief Auditor shall conduct 2 weekly examination and audit of the municipal
accounts.

{3) The Chief Auditor shall report to the Comnissioner.

{(4) The Municipal Chief Auditor shall not be eligible for further office under the
Corporation after he has ceased to hold his office.
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98. Eﬁaﬁmﬁﬁmﬂaw
(a) vEER GErem Hr fifred w0 fhen st WaeR Wamed W ARl wr a1 wet

(b) SR T FOEE P T et 9o BURTE i T, W
FIea nigwraHS i T G, ﬁawﬁqﬁadwm@ﬂaamﬂﬁw

| mﬁvrrﬁrs?
waie e : |
(1) .ﬁ?ﬁ(a)m(m?ﬁ | 2 fauR @) WR (@) T
() R 4) SR e R

Consider-the following statements :

(e)_ The 'Vaildlt)'r of any law relating to the delimitation of constituencies or the allotment
- of seats to such constituencies shall not be called in question in any court.

" No elechon to any Panchayat shall be called in uestion except by an election petition
() y y q pt by P
presented to such an authority and in such a manner as is provided for by or under
any law made by the Leglslature of State, -

' Answer Options
(1} Staternent (a) is correct (b) is false (2) Statement (b) is correct (a) is false
(3) . Both the statements are false (4) Both the statements are correct

9. memma@)
(a) TRRTEME, 1979 W Ufeedicre UHI S@ U UH SuERE §E Wted @ wge et

(b) Wtﬁﬁwﬁlﬁrﬂmwmmm
i S
(1) fm' (a) (2) FE (b) (@) <A () TE W

_ W}uch one of the followmg two statements is correct ?

(a) In Maharashtra, it was in 1979 that an IAS Officer was appointed for the first time
to the post of Chief Secretary.

(b) The.District Collector is not known as Collector in Punjab. ) |
Answer Options : | o
(1) Only{ay  (2) Only(b) (3) Both (4) Neither
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100. ToaweT=a1 FTHE 243-1 3= 7fad oo 99 AET=0 FHlaEs @oeis! Sivh faum
TR E ?
(a) TRuTwHTen anfds g Tidde sio siftn g faarTse fereh e
(b) _meqmwﬁﬁmmﬁﬁﬂmﬁﬁa '
(c) Wﬁ%ﬁ?ﬁ%wmmﬁﬁﬁmﬁmmﬁm wa?rﬁrrtﬁ

ars o,
(d) T TG i RS e e FR.
Tt I .
1 o o ©) ) (a) 3 (b) 3 @ @

Which of the following statements regarding the functions of the Finance Comrmssmn
- constituted under Article 243-I of the Constitution is not correct ?

~ (a) shall also review the financial position of the Mumc1pa11tles and make
o recommendatmns to the Finance Minister of a state.

| (b) the dlSllelll‘lﬂn between the state and the Mummpahtles of the net pmceéds

(c) the determination of the taxes, duties, tolls and fees which may be assigned to, or
appropnated by the Municipalities.

(d) the grants-m»ald to the Municipalities from the Consolldahed Fund of the State.
Answer Optlons : '
M Bad@ @ @ad® O @  ® @

101.;Wﬁaﬂa%®mqﬁmm(mcmﬁaﬂﬁrmﬁﬁmaﬁwm?
(a) TN T HTdwTaTE! gHT ST oA,
(b) & TguEiEl WAl ST USER TES
T 3
(1) % () 2 ¥ () @ T @) v

Which one of the following statements is correct about the Comptroller and Auditor
~General of India ?

(a) He is provided with the security of his tenure.
{b) He holds office durmg the pleasure of the President.
Answer Optlons
(1) Only a) (2) Only (b) (3) Both (4) Neither
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102 e o | :
(a) wivea wivgror () fafre & Sewmt som st s foemr
ERICH |
(b) TS wiRw @) TorestRTTST A g R v
(¢) wHr wf (i) =R A, T, Frem-faftm, e 5. fafre
THRH FH <0,
(d) T afmm (iv) FHEEA AATEE TR e AT R T
@ B (g @
O @ @ @ @)
() G@v) (i) (@) @)
G) @) @) @) )
4 6G) @ @) (i)
Match the pairs :
(a} Skill Training (i) Specific job centred focus and mcludes formal
instructions
(b) Background Training (i) Involves instractions in a new field of
. specialisation
{c¢) Induction Training (iii) Providing the employees with the knowledge of

particular techniques, procedure, rules-
regulations, methods etc. '
(d} Retraining (iv) Broadening the mind of the employee by helping
him to understand the political, social, ecorniomic
and administrative aspects of his job.
(@ (b) (¢} (d) '
(1) @ @) @) (v)
@ @) @) @ 0
3) @@ (@v) @ ()
@ @ @ @) (i

103, WS Uit FvR ST o ?

(1) a@aqﬂﬁaﬂaﬁmﬂwaw%mﬂaﬁmﬁmﬁ@%aﬁ
(2) WA AES IRAE A3 T 28 T $HST AR
(3) M T ww =t afirgm wew & e AW U TW e I T,
(4) wie = T '
Which of the following statements is correct ?

(1) The All-India Services are managed and controlled by two different ministries of the

Central Government.

(2) Presently there are 28 state cadres in all for the All-India Serv_1ces.

(3) The authorised strength of IPS is always more than IAS.
(4} None of the above
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104. JEio-TA Ryl Sivg faum Irg s ?
(a) =94 TE WA O 700, IRT SR A RIS AT ST .
(b) Iz TR & e & gt rherdeA T furTRg TR .
e Difcs
(1) Fa% (a) (2) @S (b) (3 A (4) R
Which one of the following two statements is correct ?
(a) Budget Division works under the Department of Expenditure Ministry of Finance,
GOIL
(b}  Unit trust of India is entrusted with the Banking Division of the Econormc Affairs.
Answer Options : :
(1) Only (a) (2) Only (b) (3) Both (4) Neither
105. G A faymi® SR 9 31E 2
| (a) I 312 iqia ARG WigaFAM IfEe yRda daE 70 Fodl AR,
(b) Wﬁwmm"mmmw&a@m"wm
(1) éma (a) (2) 93 (b) (3) =R (4) TER T
Which one of the followmg two statements is correct ?
(@) The Constitution of India provided for the setting up of the All India Services under
the Article 312.
(b) Part XIII of the Constitution of India is devoted to the services under the Umon and
the States.
Answer Options -
(1) Only (a) (2) Only (b} (3) Both (4) Neither
106. Fftiw, T4 dhR iy Yo worred 2 mwmmﬁmm
() YR IFFWEFET () FEsRwwsm
(c) THEIT zaa R (d) TETHETT =Pt
(e) U BF TaT AT
Ui S
@ @ (b)) @ 2} (@) (@) (¢
@ (@ b)) @ (4 e &

The Ministry of Personnel, Public Grievances and Pensions deals with all administrative
matters of

{a) Indian Institute of Public Administration (b) Central Bureau of Investigation
(¢} Central Vigilance Commission (d) Administrative Tribunals

(¢)  Union Public Service Commission

Answer Options :

1) (@) () © @ @ @, @ @

(3) {a), (b), (c), (e} (4) Al of the above

HEAT HHTEA FIN /SPACE FOR ROUGH WORK

" P.T.O.




. LO6 54 A

107. TeRTe faum wie=n sfoRme weame TEiius Tuerits TRt S g ?
(a) ot v Q=T s gy vawR saiisav hal.
‘(b) Tadieen feawd sfvawrren v SerEre it Foamiet et v da
(¢) WYNTErN AR AT 3 W9d Jedn I3 FHIAT SF.
(d) WYTTERie T 1 TR - e, INeARTS, R Uad-TEe U9 e g

FA.
Tgidt S
(1) ¥ (b) AT (<) () F (b) ST (d)
3 O) () 3(d) (4) e wd
Which was the most astonishing situation in the history of Maharashtra Vidhan Parishad
recently ?

(a) The opposition party along with its leader joined hands with Party in power.

(b)) On the eve of winter session of legislature there was no opposition leader to be
invited for a tea party.

() The Chairman of the House had to quit the post because of passing of no-confidence

: vote. . _ '

(d) Al three offices of the House - the Chairman, Deputy Chairman and Opposition
Leader-were held by one Political Party.

Answer options :

(1)  Only (b} and {¢) (2) Only (b) and (d)

(3) (b), (c) and (d) 4 Allfour -

108. WEWTS IHAEdS GiTdaEy aEeis IR fSum 49y TR ?
(2) GeawE Ffrdia 15 Wew . 1964 WA ot wewrdEn 22 T et
(b) wfidren sseTs AAUE WA SR PO W, g AEEEE A 9SS

ey B FeH TS WS 6 TR
At Iy ;
(1) 93 (a) () Fa® (b) 3) o (4) THE T

Which of the following statements about the Committee on Public Undertakings is True ?
(a) Originally, it had 15 members. In 1964, its membership was raised to 22

(b) The Chairman of the.Committee is appointed from its members but the members of
the Committee who are from Rajya Sabha cannot be appomted as Chairman.

Answer Options : _.
(1) .only (a) (2) only (b) {3} both (4) neither
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109. O 9@ wiFdaEd @ote faum faamd =m0

(2) TR wiwd=t i@ vram ofeeaiar 1919 =0 weade WEETER 1921 92 FI0qid
IS B,

(b) 0 GRS i e Ve sier W - o S .

(c) = wivee fris 9 werean There AT oA e 9 A1 Wik widd wEnit 9a
.

(d) 1962WHWWWWWWW awawmmiﬁ

Tafet st

(1) fam @), (b). () T, (d) T

() T ), () (d) TR, (@) IF

(@) Fm ), (b) T, (0), (d) gH

@ faum @), () T (@), (d) TH .

. Consider the following statements in respect of Public Accounts Com:ruttee

{a) This Committee was set-up first in India in 1921 under the provisions of Act 1919.

(b) This Committee is sometimes described as the ‘twin-sister’ of the Estimates committee.

(c) This Committee is assisted by the CAG who does not part1c1pate in comrmttee
meetings.

(d) As matter of practice since 1962 a member of opposition is bemg appointed as the

' Chairman of this Committee,

Answer Options :

(1) Statements (a), (b), (¢} are correct, (d) is false

(2) Statements (b), (c), (d) are correct, (a} is false

(3) Statements (a), (b) are correct, (c), (d} are false

(4) Statements (b), {c) are correct, (a), (d) are false

110. & 2 fayritst Sive 9 e ?
(2) ety Yaefts & 1, 11, [ ST TV & weileor e A, B, Caﬁrbnﬁwaﬁmm
| it seewm s,
(b) ﬁmﬂmﬁzxmaﬁl =i 1, ﬁmawuﬁﬁ%m‘
) ama (a) @ ¥z (b) @ oA (4) W@
- Which one of the following two staterments is correct ?
(a) Classification of the Central Services under Classes ], II, 11 and IV was changed to
Groups A, B, C and D on the recommendations of the Second Pay Commission.
(b} Before Independence they were called Class I, Class II, Subordinate and Inferior
Services.
Answer Options : ' o
(1) Only (a} (2) Oniy (b) (3) Both (4) Neither
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111, SRSl O
IR
(a) 309 (i)
(b 311 (ii)
(€) 323-A (iid)
{d) 335 {iv)
(@ () (@ @
1 @ @ @) @)
(2 @ @) @Gv) (@)
3 (v) @) @ @
4 @G G @ 3§
Match the pairs :
Article’
(a 309 ()
(b) 311 (ii)
{c) 323-A (i)
(d) 335 (iv)
@ () @
1 @ @@ @ v
2 ® @), @Gv) )
@) (v) @) @) @
@ @ ™ 6 G

56 | A

T\ R

FEH Q= et anfor Jar el

ATgfa sl suft syfaa spoel= g5

fge IEE G911 Y A0S TSaW 9 HIEAET HH
IO

VTR AR aehom=] =T

Provision

Recruitment and service conditions of the Central Services.
Claims of Scheduled Castes and Scheduled Tribes.
Dismissal and removal of a member of the All India Services
and Central Services. '

Setting up of an Administrative Tribunal.

(1)
2

0
4)

(D)
(2)

3
@)

112. ST WA SRSt HoR faum SR W ?

o WfATEE ST 1935 Wie T wioen e v aftimed Ty v,
TERAFA IfeSt g |k, ﬁlﬁqaﬁﬁwnqﬁwmﬂaml%om

T FOITG A,

Ta: foeamed 25 wew B WY 1956 WO § USHHEA 30 Wi Tefavan s,

T ITET ¥ W S W S TR Y ST e S

Which one of the following statements about the Estimates Committee is not correct ?

The origin of this Committee can be traced to the Standing Financial Committee set

up in 1935.

The First Estimates Committee after independence was constituted in 1950 on the
recommendations of John Mathai, the then Finance Minister.

Originally, it had 25 members but in 1956 its membership was raised to 30.

If the Deputy Speaker happens to be a member of the Committee he automatlcal]y
becomes the Chairman.
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113 Wﬁﬁmﬁwaﬁﬁﬁwﬁwaﬁ?

(2) YA T %o 110 WWWWW Elﬁib'ﬁﬂh [EELULEN
T A BRI Javar S T,

(b) TR I AR, T FTE T T FE T
Q) ¥EE @ ¢ @ TS

Which one of the following two statements is correct ?

{a) According to Article 110 of the Indian Constitution, the President shall, in réspect of
every financial year cause to be laid before both the Houses of Parliament, an “annual
financial statement’.

(b) The Parliament can increase, reduce or abolish a Tax.
Answer Options :
d) Only (@) 2) Only(® (3 Both (4) Neither

114. TEe 3 It wivE faam 9 o ?
(a) T wean figE 90 1fed [1AS oo fau afaa wits sweafoa 3.,
(b) SETTE. FTFFAIEG HEATHS NS0T 1969 A& YEH A YHR SR hreiesd

wiftI|r:
M FwE @ FBE @ CERC L

Which one of the following two statements is correct ?

(a) Montek AHluwalia was the first rion IAS Fmance Secretary appomted in the Ministry
of Finance.

(b) In 1969 professronal training programme for the IAS lncluded a ‘sandwich’ course
on the recommendations of the Administrative Reforms Cominission.

Answer Option§ :
) Only (a) (2) .Ohle (b) (3) Both 4 Neither
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115,

58 ' ;A

TS i o TR T (F) e e e s :
@ mﬂmmmmawﬁﬁmﬁé@wmwﬁmw

() Wmﬁ%mmﬁﬁﬁﬁmammﬁmé@am

A, WoAH T B WETOW TR i o o, PRt .

(c) Il AemSaEIY, a1 TSB!, A1, THaled, émqﬁwwgmwmséammﬁ
aﬁémﬁm%wvhﬁmaﬁmﬁamﬁaﬁ

'aﬂaaaﬁaamaﬁmqaaamv

1) (@) 2 () @ © (4) . A HoEr e
Consider the following statements regarding Comptroller and Audltor General of India :

(a) The CAG is an agent of the Parliament and conducts audit of expendlture on behalf
of the Parliament therefore he is responsible only to the Parliament.

(b) The Constitution of India visualises the CAG to be both Comptroller as well as
Auditor-General. However, in practice, the CAG'is fu]fﬂ]mg the role of an Auditor
General only and not that of a Comptroller . .

(¢} Audit of some Corporations e.g. LIC, RBI, SBI is not carried out by the CAG Their
audit is done exclusively by private professional auditor.

Which of the above statements is false ? , :
1 (@ (2} (b) @ © (4) none of these

116.

(a) mwmmwwmmwmmmw m?ﬂtraaaﬁa
Jar.

(b) a@wﬁaﬂiflﬁﬁ%aﬁﬁ@aqﬁﬂqﬁmmﬁéﬁamaﬁww
37 44

waiar I

(1) H9 (a) (2) ¥ (b) @) I (1) THETE
Which one of the following two statements is incorrect 7

(a) The Fifth Pay Commission recommended dnly one new Al India Service of Indian
Medical Service.

{(b) It alsorecommended that the State should not have the power of suspendmg an AIS
officer.

Answer Options : o
(1) Only (a) (2) Only (b) (3) Both . (4) . Neither

FHoEAT HIATETE 9T /SPACE FOR ROUGH WORK
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59 | . LOS
Wmaﬂv@qmﬁwmw;

(1) VRN WETH 1963 A Hes 48 WIS €6 SO (ASC)W%

(2) 19mn®awmﬁwwmaﬁwmmwmﬁmm |
N (Maharashtra Institute of Development Administration (MIDA)) 39 Ig&vAR .
(3) T forR AR 1990 W} TSRS <R fT YR Tefel (AvEn) I HToH S,
{4) é%—mmwﬁwmm%’mwwwﬁmﬁ
e,

‘Which one of the following statements about YASHADA is not true ?
{1) Administrative Staff College (ASC) was estabhshed in 1963 at Mumbai by the Govt.

. of Maharashtra.

| .(2) It was shifted to Pune in 1984 and renamed as Maharashtra Instlt-ute of Development

Administration {(MIDA).

-{3) Again it was renamed as Yashwantrao Chavan Academy of Development

Administration (YASHADA) in 1990,
(4) It is a semi-autonomous body and under the administrative control of the General
' Admlmstratlon Department of Maharashtra Govt.

118.

W‘Hﬁﬂﬁé\ﬂ*ﬁ%ﬂi‘ﬂwé\a?@
(1) WA Ireay i IR IS q?r

' (2) - Halea ATATGATAT AT o | T

(3) WA TEIE WEEN A9 F

(4) T TR T

The Consolidated Fund of India does not include :

(1) The salaries and allowances of the Chairman and Deputy Chairman of Ra]ya Sabhal )

{(2) The salaries and allowances of judges of the Supreme Court
(3) The salaries and allowances of the Parliamentary Secretary of India -
'(4) None of these

119.

Wﬁmamé@ﬁwmmmm -
(a) AR YTF (Estate Duty) (b} TUR H _ e
() ol g (@ wEHE L
(¢) YIESHM FU-T

Uit 3T

@) @b 2) @) ()
@) @ @E (4) o THA T . |
The following receipts are excluded from the scope of audit of the Comptroller and Audltor

- General of India : .
(a) Estate Duty (b) Wealth tax

- (¢) Land revenue ' {d) Cerporations

(¢) Government companies

Answer Options :

M @ o | (2) (). (e) |
3) (o), @), {e) (4)  None of the above
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120. T f85YF Heammea siear 3 ;

I AL
() 203 () R, THIEIH § AERTAS SR
(b) 204 (i) T, Al fhar sifue srgEm
(¢} 205 (i) fafraem fagass
(dy 206 (iv) SEEVIREEd fqurHeane Fred

@ () © @
M o G @) W
2) (@v) (i) (i) ()
53 6 @ W @)
4}  (iv) (i) (@)
Match the pairs about the State Legislature :

—
——

Article Provision :
(a} 203 i}  Vote on account, vote of credit and exceptional grants
(by 204 Eii} Supplementary, additional or excess grants
?(:2 205 iil) Appropriation Bills
) 206 iv} Procedure in Legislature with respect to estimates

(@ () () (4
(1) O @) () (Gv)
(2} (iv) (i) () ()
(3) (D G) (v) (i)
@) (v) aGi) @ G

121. 3. =0, 310 31, 9, (TR Yiaeay) fufTee, 1989 Jara vy fag sneams wivet fen 2=

I ? \ |
(1) FREM (2) FREAHAES
(3) €4 HEHa Sl (4 afoad

What punishment can be imposed on conviction under the SC and ST (Prevention of
Atrocities) Act, 1989 ?

(1) Imprisonment (2) Imprisonment and fine

(3) Fine and forfeiture of property  (4) All the above

122. 1986 UEF GO SEWSTR EIous! [,/ FomE faum/ faun T s/ AR ?
(a) Toreer HamRE ST e .
(b) LA AT oA SITEW Fafta FEwiR e 1 S T §@ TR
(c) T A=A GVHRIME) U S Aigame! TEE e,

i I

(1) (B) M (c) @ (a) M (c)

(3) (o) B (4) Ed faur @ ARA

Which of the following statements related to the Consumer Protection Act 1986 is/are
true ?

a) District forum does not have Appellate Jurisdiction
b) Pecuniary jurisdiction of National Commission is above one crore rupees
{¢) One seat is reserved for women in the composition of the State Commission
Answer Options :
D ) and (9 (2) (a) and (o
- (3) (c)only - (4) All are true

HOAT HIATEE W /SPACE FOR ROUGH WORK
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123. 1986 =1 YUl HIEU HETRITE (FOH 2) EWEIONH FIE 3 NEd oTHT 18 o 1o
HeRTea® A 3R ?

(2) WA gt (b) aTed

() “gm (d) TS

(1) (a) ® ' (@) (@) (b) W0 (d) F
() o wd (4)  (2) 3T (1) T

Hazardous Substance according to 52 of the Environment (Protection) Act 1986 means
any substance which is liable to cause harm to which of the following ?

(a) Human beings . (b) Plants
(c) Property (d) Micro-organisms
Answer Options :
(1) (a) only (2)  {a), (b) and (d) only
(3)  All of the above (4) (a) and (b) only
124. wifEdt 499 U 2000 FS 71 TOR S Rt Fraas e sraer TR ifaert A war
foan fesien o= frevamsftar 9=t miwd @ o Fuigda faan & v
(1) F, T ™ &R (2) T, T TR
(¢) WA, W™ 4 WP o™

According to Section 71 of the Information Technology Act 2000, whoever makes any
misrepresentation to, or suppresses any material fact from, the controller or certifying
authority for obtaining a licence/digital signature certificate shall be punishable with

imprisonment for a term which may extend to years or with fine which may
extend to rupees or with both.

(1) three, fifty thousand (2) two, fifty thousand

(3) two, three lakh (4) two, one lakh

125. I 7 Tt Fon faum gt o ?

(a) mm{amwﬁmg@%wawm%é@m(ﬁw
faH) IRANTE S T, IB TS TS TG Al

(b) SR AT FTAE TB HIIATA FUFTERT 58S T FTH SRR Adie The.

Tt 3 -

1) F9 (a) 2) F3(b) @) A (4) THR TR

Which one of the following two statements is incorrect ?

(a) The subordinate or delegated legislation (e.g. - rules, regulation, by-laws etc) made
under the enabling parent act may be unconstitutional while the enabling parent
Act is constitutional.

(b} If the subordinate legislation made is in excess of the power conferred by the parent
act it is ultra vires.

Answer Options :
(1) Only (a} (2) Only (b} (3) Both (4) Neither

AT HUTEE 7N /SPACE FOR ROUGH WORK

P.T.O.
W




"LO6 - 62 A

126 TS T faris! FioR 9 g ?
(a) YREA GfauFH WERSS 3 m@%ﬁwwﬁﬂ@uw%ﬁa%w
Hotl,

(b) T T A A AT S e o fifen Frm,

i 3 |

(1) F () 2) ¥ (b) (3) cr (4) T

Which one of the following two statements is correct ? '

(a) Davis has expounded three fold doctrine of rule of law adopted and incorperated in
the Constitution of India.

{t) Rule of law means among other thmgs elimination of discretion and fixed rules.

Answer Options : -
(1) Only (@) (2) Only (b) {3} Both {4) Neither

127, TSHE AfES SRS WASEH! F I S 139 ?
(a) SN wiawEn starfa wiesle Sefug sTHoSTN FRgE=n e S,
b) whkeimet dmfe SurEsEr gator.
() Tiewien Qe 92 TS IR FIO,
(d) i Hafua damsd Jefrr snfn Srderes Ty T SO,

qafdt 39T ;
(1) (a) A (b) - (2)  (a), (b) 3 (d)
3) (), (b) 3T () (4) oo T

Which of the following are the functions of the National Commission for Women ?
(a) Review the Constitutional provisions affecting women.

(b) Suggest remedial legislative measures for women.

(¢) Visit and Inspect jails for women.

(d) Undertake promotional and educational research m the fields related to women.
Answer Options :

(1) (a) and (b) @ (@), () and (d)

(3) (a), (b} and () (4) All the four

128. &S 34 tat FoR faum Stew o ? o
@ Wﬁw@zmq@“mwmwm"mmm
(b) R W vafare UiEE A T ARHAT WSUEr FOH 34 W A G IS T
& [ -

TR I | - |

(1) %92 (a) 2) F9 (b) 3) T (4) G

Which one of the following two statements is correct ?

(@) In Article 23 of the Indian Constitution “Right to have pollution free, clean
environment” is implied.

(b) If such an envirorunent is endangered the citizens have the right to invoke Article 34
of the Constitution for removing the pollution. :

Answer Options : N

A (1) Only (a) (2) Only (b) (3) Both (4) Neither
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129. {o¥w TS THI0 SofavaEEt I IEA

(3)

63 LO6

— Fien FerEiEn YA Seediaet
~_ oyiden AR AW SoaRIas Yeeid gl Aee e STaYIS giedie el
n@ﬁaaﬁ%afaaw%wﬁwmﬁ%wﬂa

(1) wSw Ffusrr, 10 (2) faeg derfysm, 7
faeefasrd, 10 (4y AW faea geiasnl, 7

The State Government on the recommendation of the _shall prepare for each
district a panel of such number of eminent senior advocates who have been in practice for
not less than vears, as it may deem necessary for conducting cases in the

130.

- special courts.
(1 Superintendent of Police, 1C (2} District Magjstrate, 7
(3) _Collector, 10 (4) Additional District Magistrate, 7
TIURAST RYUFH! 9v o w7 fagriqt fhar =mameai & Fet At el 1
(@) ‘T wEE W deauar Hee () ursd IPwEE WA
(b) ‘' TegEEAE gatd Heaa e a (i) H.uH T
€ '‘TEE gEd (i) WA W =g |
(d) **reEq wEEqe v (iv) SEERt w3 @Sl [1960]
(@ () (© (@
1 @ @ @ @E)
@ @ @ (@) v
@ @) v @ G
@ ) @) @) @

Match the descriptions of Preamble of Constitution with the scholars or judiciaries who
described them :

(a) “Key to open the mind of the makers” (i) Pandit Thakti_rdas Bhargava‘
by “Most precious part of the Constitution” (i) KM. Munshi '
(c) “Political Horoscope” (iti) “Sikri” [Chief Justice of India]
(d) “The part is of extreme importance” (iv) Berubari Reference Case {1960]
Answer opfions :
@ ® ( (4
1) v} @& G (i)
2 @ @ @@ (iv)
() G vy @) ()
4) ,1 i @ v O
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131, ®faw fEaran afufem 2005 efd WEieist Hivm g9 SRR AEY 3 v @ 2
() wEwEEH | (b) fEE gEA

(c) efereeh v g (d) EEES

() framE ggm 6 TEE e T

waidt 39T : | |

(1) (a)9(d) @ @30 @) O (4 @3

Which of the following orders cannot be passed by a Magistrate under the Domestic
Violence Act, 2005 ?

(a) Protection orders (b) Probation orders

(c) Monetary Relief orders (d) Custody orders

(e) Residence orders (ff Compensation orders

Answer Optiohs T

(1) (a)and (d) (2) (e} and () @ ®) | () ()and (f)
132, frefta=Hm muR 9 &G 81 YRGE [ $UadS $e9 123 S 9RT AR

(1) oo U WET Sl (2) ow vafere gy da

(3) ¥ & URH - (4) T HER W ASEE e WY,

The object and basis of Maxim is the basis of Section 123 of the Indian Evidence

Act.

(1) Nulla poena sine lege (2} Salus populiest suprema lex

(3) In bona partem (4) Qui facit per alium facit per se

133, TEIETR A FHEEE JEEE (Rule of Law) € WISGIR! HURT ST A 3T ?
(1) %= T ‘la principle de legalite’
(2) VT | ‘corpus juris sentium’
(3) T WA “de lege lata’
(4) T HA “intra legem’
As per the Administrative Law, the expression ‘Rule of Law’ has been derived from the
following c
(1) French Phrase ‘la principle de legalite’
(2) Latin term “corpus juris sentium’
{3) Latin term ‘de lege lata’
(4) Latin term ‘intra legem’
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134, Ty fevar {4, fRR T o1 wai= AARATTS 1996 =01 #87ed Hated -AReaH 81 T8 $

@, ¥ qovd AfUeR a TricyE Taid! AevEE TR A IR
(1) H¥si (CEDAW) : (2) JCEEW (UNDP)
(3) HisHTHST (CECSR) (4) YFHITEAR (UNCHR)

In Madhu Kishwar V. State of Bihar S.C. 1996 it was held by the Supreme Court that the
is an integral scheme of the Fundamental Rights and the Directive Principles.

(1) CEDAW (2) UNDP

(3) CECSR (4) UNCHR

135. GHRIH! HIUA T MW Arfawors Sfres @ ?
(1) ? T HETEIER T
(2) e s AFER 3EaE
(3) T WK 3 WA wEw T1an on e
(4) R RIS AR FOAHE WEH FE THd

Which one of the following is not the characteristic of Administrative Tribunal ?
- (1} It is creation of a statute.

(2) It is entrusted with judicial powers.

(3) Itis bound by strict rules of evidence and procedure.

(4) It can compel production of documents.

136, [EI® 3 fquMiS! FIvm Srrg ang ?

(a) Y=ER YaHe® Hwel 1988 34, e TR e 1973mﬂaﬁ$lﬂ¢qlmu°r¥r1@[-r

TR AR g rgwiEiar 93 % ued TR

(b) M FTAEE TFH THE S/ THE TFH AT W F99H w7 w6 T

et 9 :

(1) +9& (a) (2) *aa@ (b) (3) A= (4) THE AR

Which one of the following two statements is incorrect ?

(a) Under the Prevention of Corruption Act 1988 Assistant Sessions Judge shall not
be qualified for appointment as a special judge under the Code of Criminal Procedure,
1973.

(b) A Govt. Pleader is a public servant where as an MLA is not, under the Act.
Answer Options :

(1) Only (a) (2)  Only (b) (3) Both (4) Neither
137, WRSE FUS Tl i e

(1) FTER AT (2) W frE

(3) ™ W Amfuwm (4) oo THE TE

Which of the following is not an administrative tribunal ?

(1} Labour Court . (2} Rent Controller

(3) Railway Rates Tribunal (4) None of the above
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138. T FAOFA Hige= sy fommil Sfw wiwor § faen FEHI ITOHT AR,

(a) T TEY UAMAE 656 ' ' ' :
(b) it T SR
(c) IV SHaER FIOATHT b
TOTH! HIVR/HOR faur/ A aiEt R/ dRa?
1) (2) T @) (a) 3 (b) B
(3) (a) S (c) T 4) (a), (b) MV (c) ,
Sexual harassment of working women at a work place amounts to violation of her :
(a) right to gender equality o
(b) nght to life and liberty
() right to practice any profession
Which of the above statements is/are correct ?

) (a)only (2} (a) and (b) only
(3) (a) and (c} only 4 (a) (b)and {)

139. TISPIH! FIET GO Fasaien FEY T ?

(a) TS AT WK WA T Tl Moel & 3¢} Sy S F5 d
SAFHTT T

) W@ammmﬁﬁaw?ﬁww

(c) A v fordea: agqhaaﬁaaﬁhammmmﬁmmwﬁﬁmm
T H.

(d) mmmmmmwwmw

T a4y |
) . (@) STl (b) (2) (b)) (3 (psurd) (4 () F=

Whlch of the following is/are not related to fundamental duties ?

(2) To cherish and follow the noble ideals which inspired our national struggle for
freedom.

(b) To value and preserve the rich heritage of our comp051te culture. _

{(c) To promote the educational and economic interests of the weaker sections, especially
the Scheduled Castes and Scheduled Tribes.

(d) To protect all monuments of historic interest and national importance.
Correct answers are : '

(I} (2 and (b) (2} (b} and (c) (3) (c) and (d) (4)  (d)only
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140, WHASYH! HIM 39y FHt TFR TiE ?

(a) WW?WWWT{@

(b) 3 v, sTEe Tt fha Wfewd - A, ou i g
(c) Sfimmeh U@ FET TEQ HEArE A

(d) TTOTETE ST G TRETOE ST 7 v

T

1) @9 2) (© (3 (@ (4) R @
Which of the following is not an Unfair Trade Practice ?
(a) Increase in service charges not fixed by law

(b) False representation or misleading claim/advertisement whether made orally or in
writing or visual

(c} Attempt to make temptation by offering prizes etc.

(d) Non compliance of product safety standards

Answer Options : _

1) @ad@ @ © @ (@) (4 None

141.

o e, N Sfateare anEiEs < SHan 9 @ 9o w0 i aremnt
Hafya |l 3a€ dreit Iied1 g Y oS A S Al F ST SH! (SRR
Ty sfatram, 1989 @@ o] .

(1) PRI &5 qee afufram, 1955 F4 10-A

(2) WG <2 digam FOU 438

(3) v <2 Wi Fow 358

(4) T FEw GRawT AfuftEd, 1955 FOW 17-A

The provisions of shall so far as may, apply for the purposes of imposition
and realisation of collective fine and for all other matters connected therewith under the
Scheduled Castes and Scheduled Tribes (Prevention of Atrocities) Act, 1989.

(1) Sec. 10-A of Protection of Civil Rights Act, 1955
(2) Sec. 438 of LP.C
(3) Sec. 358 of LP.C
(4) Sec. 17-A of Protection of Civil Rights Act, 1955
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142. EEEYH Afedr TR Afuf 2005 =0 RN FEAHER (| AREEEN /RS

IS FIOARA YT <0ard A AT,
1y T8 (1) (d) (2) FT8() ()
(3) FEHE() (¢ (4) o8 (1) (b)

Under which of the following sections of RTI Act 2005; ‘information which has been
expressly forbidden to be published by any court or tribunal or the disclosure of which
may constitute contempt of court” exempted from disclosure of information ?

(1)  Section 8 (1) (d) (2) Section 8 {1) )

(3) Section 8 (1) (¢) {4} Section 8 (1) (b)
f?us.amﬁm%ﬁélaqaahso%wﬁawﬁmwz ! ST FH ST A
B AT T TR Tg AR e Meefats T8Y sramee 37ie Tiee %@ 39

. -

(1) 25000 " (2) 30000 (3) 35000 (4) 20000

No appeal by a person, who is required to pay any amount in terms of an order of the
State Comunission, shall be entertained by the National Commission unless the appellant

has deposited in the prescribed manner 50% of the amount or X whichever is
less.
(1} 25000 (2) 30000 (3) 35000 (4) 20000
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144. GIH@UH] FivET AfTFRG &1 1. S A0 AW, (TR Faey) AYFEm 1989 TR giasy
FEAE G FE Al 7
(a) focer et
() wrER FErHEd _
(c) STHed SHEFE= Gel Tueen dvide e sifuwr
(@) vufavrita Sefusrd
QT S |
1) @9(d) (2} (a9 (b) B3 @ @®Fd @ wW

Who from amongst the following can initiate preventive action under the SC and ST
(Prevention of Atrocities) Act, 1989 ? :

{a) District Magistrate

(b) Executive Magistrate

(¢) Police officer not below the rank of Deputy Superintendent of Police

(d) Sub-divisional Magistrate .

Answer Options :

(1) (a) and (d) (2) (a) and (b) (3) f(a), (b)and (d) (4) All the four

145. QMM HEEREAER 3= a1 saaest 9 s fswmi snfor s o7& 9 wetat 7o fawer s
T T Suos FEA focan A ©E 99 5 @ {2 9 @ o1 9 IRie TSR SRt
“ g ! = FOEEA A1 91 faheard fdar oTell de Suoey FEA SO S Hiol TEe
A, Fog H T AR A A SqR TEd=N FREEE F wE
it T STt W TR I SASTHE UH TS,

(1) 3, 6 ufed anfor 25002000 (2) 18, 6 7R 9 T 500, 1000
(3) 1 Tfem, 6 1iE 7% 100, 500 (4) 3 ufed, 6 AfgY 9 7 100, 500

Whoever on the ground of “untouchability” refuses to sell any goods or refuses to render
any service to any person at the same time and place on the same terms and conditions at
or on which such goods are sold or services are rendered to other persons in the ordinary -
course of business shall be punishable with imprisonment for a term of not less than
_ and not more than months and fine shall not be less than

and not more than rupees.

(1} 3 months, 6 months, ¥ 500, 1000 (2) 1 month, 6 months, ¥ 500, 1000
(3) 1 month, 6 months, T 100, 500 (4) 3 months, 6 months, ¥ 100, 500
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146. Q'@mmmm&ra‘m&ﬁm%ﬁ?@%ﬁﬁﬂ afwm%weh aﬂw—a m&ﬁmm L

Frpfeamed dred ™I 2

- S
(2). I RERIGER:CD
(3) W BwaE

| (4) Tt danfes woiw |

" The procluctlon of the document would not be in public interest can be- a ]UStlflcatIDI'l of
the privilege. Which of the following is not in public interest ?

- (1) - Injurious to defence

- {2) - -Good diplomatic relations

. {3)  Proper functioning of public services

@) 'Mat:nmomal relations of President

147.mmm1986mﬁéwmw@3mmaﬁvmaﬁmﬁa
A 2 |
(a) mﬁﬁmﬁwﬁﬂwwﬂﬁwﬁrw
(d) v TR fra et o ot S,

() @ @ e
() TR (b) (4) §d T TEE AR .

Who is not 2 consumer under the definition of a consumer given under the Consumer
Protection Act 1986 ?

.. (a). Person who uses the goods bought by the other for a consxderanon with his consent,
| (by Person who has bought the goods for re-sale. '
(©) Person erqoymg benefits of services given free of charge.
| (d) Person who has bought the goods on credit.
_-An.swer Options :
1) (a)and (d) (2) () and(q)
(3) (b)only \ {4) All are consumers

HEAT FTHA JWT /SPACE FOR ROUGH WORK



A 71 LO6

148, @A ot Fed srpgled TR 9 ST SR (SRAER Tiey) mmssamwh '
g 370y ame ?
(a) WW[WMWAmWWW/WBWWW
T T AT I,
(b) ST IR A AR FICATS el B A1 A= T A T 537 FHh.
(c) FrTgfaa W/ SN TS A A1 J[SEH STTqfan St/ oA g9 saaen s
G wicoa 499 Ton Head waEreh fodt .
() STTYFEE IS A 90 SHIR H9 e e ST (mmaweﬁ/aqﬂﬁw@m)
Tz feftrart Sfre sovE Hel.
gaidt 39 :
1) (a) 30t () (2) YT e
(B) (a) wH (0) =iewd
Which of the following acts are considered as offences punishable under the prov1510n5 of
the SC, ST (Prevention of Astrocities) Act 1989 ?
{a) A who is not a member of SC or ST compels, B who is a member of Scheduled
.+, Caste/ST to eat inedible substance.
(b) A who is a member of the Scheduled Caste, wrongfully occupies a piece of land
owned by, B who is also a2 member of the Scheduled Caste.
(¢) A who is not a member of SC/ST does not allow the members of SC or ST to enter
his private temple to worship.
{d) A who is a member of the Scheduled Caste sexually exploits a woman clerk in his
office who does not belong to the Scheduled Caste/Tribe.
Answer Options :
(1) (a)and (c) : (2) None
(3) (a) only (4) All the above

149. ‘wEATE AfEA § WOOTE! ST AR T -
1) Tfir = 2 =fEsms @) e @A 4) faw
Rule of Law is regarded as a part of :

{1) Natural Justice (2). Municipal Law (3) Ethics (4) Discipiine -
150. TR} T Hegw AfafEE, 1955 TER Coygiad S’ e wta Wlaae s

AT=T 7 T| I Kow sl R

(1) 17, 362 (2) 10, 258 (3) 22, 368 (4) 24, 366

As per the Protection of Civil Rights Act, 1955 “Scheduled Caste” has the meaning assigned

to it in clause of article of the Constitution of India.

(1) 17, 362 (2) 10, 258 (3) 22, 368 (4) 24, 366

-000-

HoeqT HIMFIS A /SPACE FOR ROUGH WORK

P.T.O.




LO6

72 : A

T — (7= 1 767 ...

@ vrigfard e oo e Jrie = Fm (76 9%) F8. s SRafisat 9
TR FIEE F FW FeAW { HG KA SR F AR, IR TAS WS § TR IHCARRR
T T R wleined S SRR S FvEEe sfuRRE-82" e TEETaR R
mﬁ%aﬁwﬂmwmﬁmaﬁmm@mmwﬁﬁa
i .

©) mmmmﬁ@amaammammmmm
HFA JOME AT AR, muﬂmmm@rmmvﬁaﬁmmﬁmmﬁtwm—
WRaTHS 7 TR T HOT IavaE T

THAT T

T FEIE 201, T OO TR FOAEE el e TaH +50 7

. %, 201.

@ TR T @ dvaEg frmR
() T THHE @ TaEFe e

CRYEN A SR (3) T T T R AR, TS A Y I (9)" e T

Eﬁmﬁtmw maﬁﬂam—m"@"%aﬂawmmmﬁﬁw
3.

ONON MO

mmﬁmmﬂmmmwmawmm
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